GENERAL NOTES: S F E | R

1. THE GENERAL CONTRACTOR SHALL VERIFY ALL EXISTING CONDITIONS AR C H I T E C T S
AND MEASUREMENTS IN THE FIELD PRIOR TO STARTING CONSTRUCTION.

2. REFER TO GENERAL NOTES ON SHEET A0-00 FOR INFORMATION NOT 1350 Columbia Street, Suite 603
INDICATED ON THIS SHEET. San Diego, CA 92101

P:619-299-3917

FINISHES FLOOR PLAN NOTES: F: 619-299-5084

www.sfeirarch.com

TCMC SCHIFF

© O, ® ® © FAMILY NICU
RENOVATION

1. LIMIT OF SV1 FINISH
2. LIMIT OF LVT1 FINISH

‘ ALCOVE S
| ‘ | - I ’LT T\J | - % LHJ 347 — QDU 3 ﬁ I
i e ' TRI-CITY MEDICAL

/A CORRIDOR

oo, (923 N =/ 356 N
ANl
y ‘ 'rj/

\ CENTER
| 4002 VISTA WAY
C>\L OCEANSIDE, CALIFORNIA

92056

Q1D
>, | l
. Y MY
e @ 4
g@@ & Le
@R

_ | rs |
= == ‘ . —___OFFICE .
— > — / D “ OWNER: I(F)g-ZCJ/TIgTI\//lEVBEAL CENTER
TOILET 5
: f S OCEANSIDE, CALIFORNIA 92056
337A *-G . g @\ | / ‘ lé | | TEL(760)724-8411
55 ' \ 7 | ( Dz JAN : f | ARCHITECT:  SFEIR ARCHITECTS
B-3 L — 9 ) o .
: ' G 2 " . : 1350 COLUMBIA STREET, SUITE 603
= 5 344 c ANTE ROOM. @@ SAN DIEGO, CALIFORNIA 92101
TEL(619)299-3917 FAX(619)299-5084
S ' STRUCTURAL:  SUN STRUCTURAL ENGINEERING, INC.
) 2091 LAS PALMAS DRIVE, SUITE D
4.5 — - I - - - - - CARLSBAD, CALIFORNIA 92011
G4 TEL(760)438-1188
ME&P: DESIGN WEST ENGINEERING
5151 SHOREHAM PLACE, SUITE 240
SAN DIEGO, CALIFORNIA 92122
Ws _ TEL(619)330-6043
© CORRIDOR| ™ FORMULA PREP. bved
| | — o
341
339C ) L ] - . o o N
2 T ﬁ?@ ‘ i X g Vv 1 &5 I CORRIDOR
T | | G2,/ T SR @ | = I .
| GI G~y | (L= | | 339A | o
| (VERT.
TOILET &3 A\ [Tl & | ~ ._)Av (i *
336A s BED —@D C}Lﬂ | G @D NURSE STATION A @D ED N
- | _ B- | [ ul
= 340 (Il AN
i | i
WS-1
TOILET /
335A CD) A /A OSHPD COMMENTS 03.25.16
/2\/2.  OSHPD COMMENTS 09.01.16
3\ /3.  DESIGN CHANGES 09.01.16
A\ /A OSHPD COMMENTS 12.22.16
CORRIDOR | 5\' /5.  OSHPD COMMENTS 03.03.17
339B j— 6\ /6.  DESIGN CHANGES 03.03,17
\ ] 7/7.  DESIGN CHANGES 04.14.17 ;5
| REV: DESCRIPTION: DATE:
l @ @} CONSULTANT
OSHPD APPROVAL STAMP:
OSHPD #: S152912-37-00
CHD)
| i R 1 1 R | i N @ D SHEET TITLE:
T A_q N\
@ B B B B \ : B | \V @] & / | Le» B B B B B B B B ~1/4" PARTIAL FINISHES
TOILET TOILET TOILET TOILET TOILET TOILET T H l R D
| 334A 333A 332A 331A 330A 329A
@ O
] | PROJECT TITLE:
TCMC SCHIFF FAMILY NICU
RENOVATION
PROJECT #: SHEET NUMBER:
01549.01
DRAWN BY:
Author
CHECKED BY:
~ PARTIAL FINISH PLAN - NICU EXPANSION |D-3
1/4" = 1'-0" As indicated

DATE:
11/13/15

All rights reserved. No part of this work may be reproduced or copied in any form or by any means, graphic, electronic, or mechanical, including photocopying, recording, taping, or information and retrieval systems without written permission of the ARCHITECT. 1 O Oo/ CO N ST R l | CT I O N D O C l | M E N TS




1

GENERAL NOTES:

1. THE GENERAL CONTRACTOR SHALL VERIFY ALL EXISTING CONDITIONS
AND MEASUREMENTS IN THE FIELD PRIOR TO STARTING CONSTRUCTION.

2. REFER TO GENERAL NOTES ON SHEET A0-00 FOR INFORMATION NOT
INDICATED ON THIS SHEET.

1/4" PARTIAL FIRST FINIS

1/4" = 10"

S F E I R

A R H I T BE C T S

1350 Columbia Street, Suite 603
San Diego, CA 92101

P:619-299-3917
F: 619-299-5084
www.sfeirarch.com

TCMC SCHIFF
FAMILY NICU
RENOVATION

TRI-CITY MEDICAL
CENTER

4002 VISTA WAY
OCEANSIDE, CALIFORNIA
92056

OWNER: TRI-CITY MEDICAL CENTER
4002 VISTA WAY
OCEANSIDE, CALIFORNIA 92056
TEL(760)724-8411

ARCHITECT:  SFEIR ARCHITECTS
1350 COLUMBIA STREET, SUITE 603
SAN DIEGO, CALIFORNIA 92101
TEL(619)299-3917 FAX(619)299-5084

STRUCTURAL: SUN STRUCTURAL ENGINEERING, INC.
2091 LAS PALMAS DRIVE, SUITE D
CARLSBAD, CALIFORNIA 92011
TEL(760)438-1188

ME&P: DESIGN WEST ENGINEERING
5151 SHOREHAM PLACE, SUITE 240
SAN DIEGO, CALIFORNIA 92122
TEL(619)330-6043

A\ OSHPD COMMENTS 03.25.16

2\ /2. OSHPD COMMENTS 09.01.16

/3. DESIGN CHANGES 09.01.16

/A OSHPD COMMENTS 12.22.16

5\ /5.  OSHPD COMMENTS 03.03.17

/6. DESIGN CHANGES 03.03.17
A T N i T el e e e N
/7N"/7 DESIGN CHANGES 04.14.17 }

REV: DESCRIPTION: DATE:

CONSULTANT

1
OSHPD APPROVAL STAMP:

OSHPD #: S152912-37-00

SHEET TITLE:

1/4" PARTIAL FINISHES
FIRST

PROJECT TITLE:

TCMC SCHIFF FAMILY NICU
RENOVATION

PROJECT #: SHEET NUMBER:
01549.01
DRAWN BY:

Author

CHECKED BY:

Checker -
SCALE:

As indicated
DATE:
11/13/15

All rights reserved. No part of this work may be reproduced or copied in any form or by any means, graphic, electronic, or mechanical, including photocopying, recording, taping, or information and retrieval systems without written permission of the ARCHITECT. 1 O Oo/ C O N ST R l | CT | O N D OC l | M E N TS




S F E

AR C H I T E CT S

1350 Columbia Street, Suite 603
San Diego, CA 92101

P: 619-299-3917
F: 619-299-5084
www.sfeirarch.com

CLIP ANGLE: ———— N
16GA. 3"x3"x 3"LONG J}
ATTACH TO JOIST OR/ N
STUD & BLOCKING W, .
1” x18 GA. STRAP
NOTE: 2-#8 SCREWS (TYP.) 8 ——NO. 10 S.M. SCREW @ 24" 0.0. W/ 1-
1. WHERE BLOCKING S @6 o/c 2- NO. 10 SM. NO. 10 SCREW EA. END

MATERIAL THICKNESS < SCREWS TO STRAP TO EXISTING STUD

o e Ao
GENERAL NOTES POR_CONNZETION g -
COLD-FORMED STEEL FRAMING 2. WHERE PROVISIONS X \E
ARE PROVIDED FOR 1 i
1. THE CONTRACTOR SHALL VERIFY ALL DIMENSIONS, ELEVATIONS, SITE 1. DESIGN, MANUFACTURE AND INSTALLATION OF LIGHT TRANSFER OF FLANGE
CONDITIONS PRIOR TO STARTING CONSTRUCTION. THE ARCHITECT AND GAGE, COLD—FORMED STEEL JOISTS, PURLINS AND EES(C)IEE\ICIOBE?)I(—)IEING 8 8
STRUCTURAL ENGINEER SHALL BE NOTIFIED OF ANY DISCREPANCIES OR STUDS SHALL CONFORM WITH THE LATEST EDITION OF NEED NOT BE THE FULL
INCONSISTENCIES. THE LIGHT GAGE, COLD—FORMED STEEL DESIGN MANUAL DEPTH OF THE MEMBER. SOLID BLOCKING
ISSUED BY THE AISI.
2. THE ARCHITECT AND STRUCTURAL ENGINEER SHALL BE NOTIFIED OF ANY STUDS
CONFLICTS OR OMISSIONS BETWEEN THE WORKING DRAWINGS OR 2. STRUCTURAL LIGHT GAUGE STUDS, TRACK, BRIDGING,
SPECIFICATIONS BEFORE PROCEEDING ANY WORK SO AFFECTED. A AND ACCESSORIES SHALL COMPLY WITH
CLARIFICATION SHALL BE ISSUED FOR SUCH CONFLICTS. ANY WORK STEEL STUD MANUFACTURERS ASSOCIATION ICBO ER—4943P
PERFORMED IN CONFLICT WITH THE CONTRACT DOCUMENTS OR ANY CODE
REQUIREMENTS SHALL BE CORRECTED BY THE ARCHITECT AND STRUCTURAL STRUCTURAL LIGHT GAUGE CH STUDS, J RUNNER TRACK,
ENGINEER AND ACCESSORIES SHALL COMPLY WITH DIETRICH
METAL FRAMING ICC—ESR# 1166P
* 5 SmUA, pos A0 Srnua B s, S v s s cowtunce w
OF CONSTRUCTION. THE CONTRACTOR SHALL PROVIDE ALL MEASURES D1.3 "STRUCTURAL WELDING CODE — SHEET STEEL". BLOCKING AT PARTITION CORNER FRAMING
NECESSARY TO PROTEGT THE STRUGTURE DURING CONSTRUCTION. SUCH evl[JTﬁLIFIEV/?STIOI\llM 1OF éﬁkﬁ%@é sgALLPABRETlNCACC,%EES\ESE /\ T T T /_\ /\ NEW WALL TO EXlSTlNG WALL |NTERSECT|ON FRAMING
MEASURES INCLUDE, BUT NOT LIMITED TO, BRACING, SHORING, TO INSURE QUALIFICATION" " SEe. LATEST EDITION OF THE 15| I 2 3 TRI_( :ITY M ED I‘ :AL
THE VERTICAL AND LATERAL STABILITY OF THE STRUCTURE. OBSERVATION : 3 : . )
WISITS TO THE SITE BY THE ARGHITECT AND STRUGTURAL ENGINEER SHALL SPECIFICATIONS FOR THE “DESIGN OF COLD—FORMED \ / SCALE: NTS \ / SCALE: NTS K / SCALE: NTS
STEEL STRUCTURAL MEMBERS” FOR ALLOWABLE WELD
NOT INCLUDE INSPECTION OF THE ABOVE ITEMS AND DOES NOT RELIEVE THE VALUES
CONTRACTOR’S RESPONSIBILITIES. : C E N T E R
4. FRAMING SHALL BE ERECTED PLUMB, LEVEL AND
4. THE CONTRACTOR SHALL BE SOLELY RESPONSIBLE FOR CONFORMING TO ALL SQUARE. BRIDGING AND DIAGONAL TENSION STRAPS 4002 VISTA WAY
LOCAL, STATE AND FEDERAL SAFETY AND HEALTH STANDARDS, LAWS AND SHALL BE USED.

REGULATIONS. THE ARCHITECT AND STRUCTURAL ENGINEER WILL NOT

ENFORCE SAFETY MEASURES OR REGULATIONS. 5. TEMPORARY BRACING SHALL BE PROVIDED AS REQUIRED OCEANS I DE CALI FORN IA
UNTIL ERECTION IS COMPLETE AND SAFELY SECURED TO I

5. NOTES AND DETAILS ON THE DRAWINGS SHALL TAKE PRECEDENCE OVER THE STRUCTURE.
GENERAL NOTES AND TYPICAL DETAILS. DIMENSIONS SHALL TAKE PRECEDENCE 92056
OVER SCALES SHOWN ON THE DRAWINGS IN CASE OF CONFLICT. 6. COLD—FORMED STEEL YIELD STRENGTH (fy) IS 33 KSI.
IDENTIFICATION OF SSMA PRODUCTS
6. ALL WORKS SHALL CONFORM TO THE STANDARDS OF THE 2010 CALIFORNIA
BUILDING CODE. MEMBER DEPTH: FLANGE WIDTH:
3.62" = 362x1,/100 INCHES 2" = 200x1/100 INCHES
7. A.S.T.M. SPECIFICATIONS NOTED ON THE DRAWINGS SHALL BE OF THE LATEST ALL MEMBER DEPTHS ARE TAKEN IN 1/100 INCHES ALL FLANGE WIDTH ARE TAKEN OWNER: TRI-CITY MEDICAL CENTER
REVISION. FOR ALL "T” SECTIONS MEMBER DEPTH IS THE IN 1/100 INCHES y 2505137-43 COLD—ROLLED CHANNEL. 4002 VISTA WAY
HORIZONTAL BRIDGING
8. NO STRUCTURAL SUBSTITUTIONS OR CHANGES SHALL BE MADE IN THE FIELD. INSIDE TO INSIDE DIMENTION - , TO BE SPACED @ 24" O.C. OCEANSIDE, CALIFORNIA 92056
WRITTEN APPROVAL MUST BE OBTAINED FROM THE STRUCTURAL ENGINEER 16GA. 3"x3" CLIP 7 MAX

ANGLE, 1/4" LESS THAN
STUD WIDTH. ATTACH WITH
4—#8 SCREWS AS SHOWN.

AND OSHPD FOR ANY SUBSTITUTIONS OR CHANGES FROM THE APPROVED TEL(760)724-8411

CONSTRUCTION DOCUMENTS. \ @
N

CONNECTOR STUD SIZE AND

9. CONTRACTOR SHALL PROVIDE AND BE RESPONSIBLE FOR THE PROTECTION MATERIAL THICKNESS: FHICKNESS To, MATOH TRAGK

AND REPAIR OF ADJACENT EXISTING SURFACES AND AREAS WHICH MAY BE
DAMAGED AS A RESULT OF NEW WORK. 0.054" = 54 MILS (16 GA.)

* ARCHITECT: SFEIR ARCHITECTS
o 1350 COLUMBIA STREET, SUITE 603

STYLE: MATERIAL THICKNESS IS THE 2- #8 SCREWS SAN DIEGO, CALIFORNIA 92101
S = STUD OR JOIST SECTIONS MIN. BASE METAL THICKNESS (EACH SIDE) TEL(619)299-3917 FAX(619)299-5084
T = TRACK SECTIONS REPRESENTS 95% OF THE
EXPANSION ANCHOR BOLTS DESIGN THICKNESS STRUCTURAL:  SUN STRUCTURAL ENGINEERING, INC.
1. ALL FIELD INSTALLED CONCRETE EXPANSION ANCHORS SHALL BE HILTI KB—TZ B o AT EACH END OF WALL 2091 LAS PALMAS DRIVE, SUITED
ANCHORS. EXAMPLE ADJACENT TO OPENINGS @ 8—0" 0.C. CARLSBAD. CALIFORNIA 92011
ANCHOR TYPE ICC—ES ESR# S  FOR TRACK: TEL(760)438-1188
3/8"¢ HILTI KB TZ 1917 COLD-FORMED STEEL STUDS PROPERTIES WHERE BLOCKING MATERIAL THICKNESS

ALLOWS, NOTCH AND BEND FLANGES 90 OR
ANCHOR TO VERTICALS W/ 3"x3"x 3"LONG ME&P: DESIGN WEST ENGINEERING

Ao VeRToAL STos wy 5—ge s, sorews [L s 5151 SHOREHAM PLACE, SUITE 240

IDENTIFICATION ~ MEMBER DEPTH  FLANGE WIDTH MATERIAL THICKNESS
2. ALL ANCHORS SHALL BE TESTED BASED ON THE FOLLOWING CRITERIA:

» » @ EA. LEG OF CLIP
ANCHOR TYPE TORQUE ICC—ES ESR# 3625162-43 362 1625 18 GA. ?2[1 ggi:?o gg;l{.;FORNIA 92122
3/8"% HILTI KB TZ ANCHOR 25 FT-LBS 1917 362T125-54 362" 1257 16 GA. <I]\) / (619)330-
MINIMUM ANCHOR EMBEDMENT SHALL BE 2” FOR 3/8"%, 400S162—54 4" 1.625" 16 GA. /\ TOP & BOTTOM TRACK SPLICE WALL BRIDGING ALTERNATE
(INSTALLED IN NORMAL WT. CONCRETE WITH fc' = 3000 PSI) ! 6
WHEN INSTALLING DRILLED—IN ANCHORS AND/OR POWDER DRIVEN PINS IN \ / SCALE: NTS : \ / SCALE: NTS
EXISTING NON—PRESTRESSED REINFORCED CONCRETE, USE CARE AND CAUTION 4]\ / \
TO AVOID CUTTING OR DAMAGING THE EXISTING REINFORCING BARS OR EMBEDED PIPES i
AND CONDUITS IN THE SLAB BY USING A NON DESTRUCTIVE METHOD PRIOR TO INSTALLATION STRUCTURAL STEEL: . 18 SCREW
WHEN INSTALLING THEM INTO PRESTRESSED CONCRETE (PRE OR POST TENSIONED) , @ EA. STUD
LOCATED THE PRESTRESSED TENDONS BY USING A NON DESTRUCTIVE METHOD PRIOR STRUCTURAL STEEL SHALL COMPLY WITH THE FOLLOWING U.N.O.:
TO INSTALLATION. EXERCISE EXTREME CARE AND CAUTION TO AVOID CUTTING OR STEEL CHANNELS AND ANGLES ASTM A36
DAMAGING THE TENDONS DURING INSTALLATION. STRUCTURAL TUBES = AS500, GRADE B
MAINTAIN 1” MINIMUM CLEARANCE BETWEEN EXISTING REINFORCEMENT AND THE STEEL PLATE ASTM A36 .\P :
EPOXY ANCHOR STEEL BOLT ASTM A307 1" X18 GA. FLAT STRAPS, 4
APPLY PROOF TEST LOADS TO EPOXY ANCHORS WITHOUT REMOVING THE NUT ALL STEEL MEMBERS TO BE PRIME PAINTED. X—-BRIDGING
IF POSSIBLE. OTHERWISE, REMOVE THE NUT AND INSTALL A THREADED / 1" x18 GA. FLAT STRAPS,
COUPLER UP TO THE SAME TIGHTNESS OF THE ORIGINAL NUT USING A J> NOTCHED CHANNEL,
TORQUE WRENCH AND APPLY THE LOAD. SEISMIC LOAD 1 N X-BRDGNG OR_
T (EACH SIDE)
TESTING SHOULD OCCUR A MINIMUM 24 HOURS AFTER INSTALLATION OF THE SITE. LOCATION: § A D) e MMM 4"(10m
SUBJECTED ANCHORS. IF THE MANUFACTURER'S RECOMMENDED INSTALLATION : . . U 4 45 SCREWS CE (102mm).
TORQUE IS LESS THAN THE TEST TORQUE, THE MANUFACTURER'S LONGITUDE: 117.29178" WEST,  LATITUDE: 33.18425" NORTH (EACH SIDE)
RECOMMANDED INSTALLATION TORQUE SHOULD BE USED IN LIEU OF THE TEST DESIGN SPECTRAL RESPONSE ACCLERATION: NI GING SHALL BE . NOTE:
TORQUE. ANCHOR DIAMETER REFERS TO THE THREAD SIZE. S = 0.760, S..= 0.435 FLAT STRAP, NOTCHED CHANNEL N ONE ROW OF BRIDGING OSHPD COMMENTS 03.25.16
N

TEST METHODS; THE FOLLOWING CRITERIA APPLY FOR THE ACCEPTANCE OF

DS D1 OR PROPRIETARY SYSTEM. AT MID HIGHT OF THE WALL I A
REACTION LOADS FROM TEST FIXTURES MAY BE APPLIED CLOSE TO THE
ANCHOR BEING TESTED. PROVIDE THE ANCHOR IS NOT RESTRAINED FROM SEISMIC IMPORTANCE FACTOR, Ip = 1.5 é OSHPD COMMENTS 09.01.16
WITHDRAWING BY THE FIXTURE. SEISMIC FORCE COEFFICIENTS: / 2
TEST EQUIPMENT INCLUDING TORQUE WRENCHES SHALL BE CALIBRATED BY AN a,=10 Rp=25 #8 SCREW A DESIGN CHANGES 09.01.16
APPROVED TESTING LABORATORY IN ACCORDANCE WITH STANDARD oy TYP.
RECOGNIZED PROCEDURES. SEISMIC DESIGN CATEGORY "D A OSHPD COMMENTS 12.22.16

NEW SSMA 362S200-54 METAL STUD

INSTALLED ANCHORS: OSHPD COMMENTS 03.03.17

A). HYDRAULIC RAM METHOD:
ANCHORS TESTED WITH A HYDRAULIC JACK OR SPRING LOADED DEVICES /6\  DESIGN CHANGES 03.03.17
SHALL MAINTAN THE TEST LOAD FOR MINIMUM OF 15 SECONDS AND SHALL EXIST. 3-5/8" METAL SISTER W/ EXIST. STUD W/ #8 SM. N o Ny NV AN
EXHIBIT NO DISCERNABLE MOVEMENT DURING THE TENSION TEST, e.g., AS STUDS @ 16” O.C. SCREWS @ 12" 0.C. STAGGERED ;«
EVIDENCED BY LOOSENING OF THE WASHER UNDER NUT. /I\  DESIGN CHANGES 04.14.17

B). TORQUE WRENCH METHOD: , , _
ANCHORS TESTED WITH A CALIBRATED TORQUE WRENCH MUST ATTAIN THE REV: DESCRIPTION: DATE:
SPECIFIED TORQUE WITHIN 3 TURN OF THE NUT.

EXCEPTIONS: CONSULTANT

1. WEDGDE OR SLEEVE TYPE:

" OME RIS () U OF THE NUT FOR A § . SLEEVE ANCHOR oL /"_\ X-BRIDGING /" \ WALL BRIDGING /"~ \ TYPICAL SISTER STUDS CONNECTION PLAN VIEW

ONE QUARTER (3) TURN OF THE SCREW AFTER INITIAL SEATING OF THE 7 8 9
SCREW HEAD. \ / SCALE: NTS k/ SCALE: NTS kJ SCALE: NTS

TESTING SHOULD OCCUR 24 HOURS MINIMUM AFTER INSTALLATION OF THE
EPOXY ANCHOR.

SUN Structural Engineering, Inc.
Consulting Structural Engineers

2091 Las Palmas Dr. Suite D
Carlsbad, California 92011
Tel: 760—438-1188

MINIMUM OF 50% OF THE INSTALLED ANCHOR SHALL BE TESTED. (ALTERNATE Sé\ﬁiws%ocggg’i%i ((%:ng(;ﬁgz\cx UN.O #8 SCREWS ENGINEERING  yww.sunse—inc.com
ANCHORS IN ANY GROUP ARRANGEMENT) IF ANY ANCHOR FAILS TESTING, NOTCH BACKING CHANNEL o © 12" STAGGERED
TEST ALL ANCHORS OF THE SAME TYPE, INSTALLED BY THE SAME TRADE, OVER STUDS TYP @ EXIST. STUD OSHPD APPROVAL STAMP:

NOT PREVIOUSLY TESTED UNTIL TWENTY (20) CONSECUTIVE ANCHORS PASS,
THEN RESUME THE INITIAL TEST FREQUENCY. TESTS SHALL BE PERFORMED
PER CBC 2010, 1916A.7.

ALL TESTS SHALL BE PERFORMED IN THE PRESENCE OF THE INSPECTOR OF
RECORD.

OSHPD #: $152912-37-00

BACKING CHANNEL (UNPUNCHED)
SSMA 800T200—54 TRACK U.N.O.

NOTCH BACKING CHANNEL
OVER STUDS TYP.

\3— #10 SHEET METAL

SCREWS TYP.
’ ‘ @ EA. NEW STUD

\3— #10 SHEET METAL

SCREWS TYP.
@ EA. STUD

,/ * \u

¥
i [
. |
/ B ’ “ SHEET TITLE:
. | ||

SSMA 362S200-54 d ‘ ‘ “ | ‘ NEW SSMA 362S200—54

(16 GA.) ‘” METAL STUDS FULL HEIGHT SISTER W/ G E N E RAL N O T E S

METAL STUDS < ‘ ‘ EXIST. STUDS W/ #8 S.M. SCREWS

@ 16" 0.C. ‘ ’ ‘” @ 12" 0.C. STAGGERED

iR TYPICAL DETAILS
‘ ’ EXIST. METAL STUDS
o ‘“ TO REMAIN
< g | ’ PROJECT TITLE:
NOTE: NOTE: TCMC SCHIFF FAMILY NICU
BACKING CHANNEL SHALL BE LONGER THAN BACKING CHANNEL SHALL BE LONGER THAN
HUNG ITEM OR CABINET BY 1 STUD SPACE EACH HUNG ITEM OR CABINET BY 1 STUD SPACE EACH RENOVATION
END MINIMUM END MINIMUM PROJECT & SHEET NUMBER:
01549.01
DRAWN BY: H
A @ NEW STEEL STUDS WALL B @ EXISTING STEEL STUDS WALL Author

Checker -
TYPICAL BACKING FOR CABINETS AND EQUIPMENT S I

@ As indicated

DATE:

11/13/15

Allrights reserved. No part of this work may be reproduced or copied in any form or by any means, graphic, electronic, or mechanical, including photocopying, recording, taping, or information and retrieval systems without written permission of the ARCHITECT. 1 O O 0/ C O N S T R l ' CT I O N D O C l ’ M E N TS



S F E | R

1350 Columbia Street, Suite 603
San Diego, CA 92101

P: 619-299-3917
@ @ @ @ @ F: 619-299-5084
www.sfeirarch.com

|
| |
I . ' [CMC SCHIFF
' | |
R i N [ s ' ' FAMILY NICU
- | L1 1 1 : t
| | |
=1 1 | reATIENTBAY | - — — 1 [ PATENTBAY- — — - — | [ | e e e e — —
B N
1| M 1] o] "= + +
T i I fomssssssess | RENOVATION
] | |
I o IR N N ] Jo - r | | L [ L
e t ] + 4+ — — — s - — — — — — — — e S
|
N A A N N S R i L _ N
— | e A | ﬁ i T| 77777777777777 ' T 777777777777 T
i - - - —3— - - — - -+— 1| - - - - ) ST - - - -
! ' | | \ \
—1 - — [ ) TRI-CITY MEDICAL
\ | |
FIER ANCHORAGE DETAIL ‘ ‘
::::::::j OF SYSTEM FURNITURE, SEE S ——— - th::::::::::::::: EETEEEE=HERATSSY ) m = CENTER
/ .
‘ | | | 4002 VISTA WAY
7777777777777777777777777777777777777 _ e S B sl RN R L
e R e e —====bE===========; SN 4| == OCEANSIDE, CALIFORNIA
= | | [Raa\n 2
| | | = /2 | 2
‘TN TOILET *‘ - — — — — - — — — — —— — ‘*W’i@y**lf*fg@ﬁ****‘ B 9 056
| | | |
1| unirsec. | ﬂ‘ ! . 2R |
e [ B R ——— = | == = 1 — el s S ——— 7, e i B OWNER: TRI-CITY MEDICAL CENTER
5T | |4 - . ASSEERNS - AT ! sl
| WAITING T_% | = : | OCEANSIDE, CALIFORNIA 92056
- %777777 4+ — — 4+ — — — — —_— _i JN — TEL(760)724-8411
|
P \ — ! ARCHITECT:  SFEIR ARCHITECTS
, — : \ \ | 1350 COLUMBIA STREET, SUITE 603
iy :%l el | R —— _ | 5 8§ —« - —Hr/r————F - —— - I I R SAN DIEGO, CALIFORNIA 92101
| —@D@ LOCKERS— ‘ . - | - N TEL(619)299-3917 FAX(619)299-5084
fT&F&UI‘&Ei I AT | L [ms ]| SCRUB || S e | = e — - L
j Lot 7 7 ]| Accessisie | D B L R — STRUCTURAL: SUN STRUCTURAL ENGINEERING, INC.
- — — — — — — — — — — R T e R 4= 2091 LAS PALMAS DRIVE, SUITE D
‘ D | \ | CARLSBAD, CALIFORNIA 92011
- {1 — = — — = i e A Tl T TEL(760)438-1188
— |
7777777777777 e ' ‘777@777777777‘ S ME&P: DESIGN WEST ENGINEERING
————————————— | L | re | 5151 SHOREHAM PLACE, SUITE 240
| i SAN DIEGO, CALIFORNIA 92122
e F—————————— — — 4 L= TEL(619)330-6043
S el S
| | |
B I R R
] — ] [ B ‘ ‘
I R R R R R E ———  ——————— r» 777777777777 # P
| | |
L S
\ \ \
\ \ |
7777777 ‘ \ |
-
————— i
CORRIDOR iF
NORTH EXISTING PARTIAL ROOF PLAN A\ OSHPD COMMENTS 03.25.16
SCALE: 1/8"=1-0" A OSHPD COMMENTS 09.01.16
2
3N /3\  DESIGN CHANGES 09.01.16
5
\SD4/ A A OSHPD COMMENTS 12.22.16
SIM.
A /A OSHPD COMMENTS 03.03.17
/6\ _ DESIGN CHANGES o 03.0317
e S AR S can et S G = Y
M DESIGN CHANGES 04.14.17 >
REV: DESCRIPTION: DATE:
CONSULTANT
SUN Structural Engineering, Inc.
Consulting Structural Engineers
2091 Las Palmas Dr. Suite D
Im | Carlsbad, California 92011
1 S Tel: 760—438-1188
@ ENGINEERING WWWw.sunse—inc.com
. — — — — — —— _ ___ _________________|
EQUIPMENT SCHEDULE
OSHPD #: S152912-37-00
‘ TOILET  TOILET TOILET TOILET - FQUIP. # DESCRIPTION MAX. OPERATION | DETAIL
. I WEIGHT (LBS.)
II ;IIIl - 001 UNDERCOUNTER REFRIGERATOR 205
o
1 1 (2
g {2 TALL FREEZER 600
EXISTING 3RD FLOOR FRAMING PLAN a8 (004) | SUPPLY STATION —
. (7
NORTH N SD4 STATION — 6 DRAWER 1000
BN SMALL REFRIGERATOR 20
GENERAL NOTES
I DY/ UNDERCOUNTER FREEZER 205
1. DO NOT SCALE THESE DRAWINGS. PRIOR TO START OF CONSTRUCTION, SHEET TITLE:
ALL DIMENSIONS AND ELEVATIONS MUST BE VERIFIED WITH THE APPRD. HILL—ROM HEADWALL 1387 PER PLAN
SET OF ARCHITECHURAL DRAWINGS. IN CASE OF DISCREPENCIES, /T SIM.
STRUCTURAL ENGINEER OF RECORD MUST BE NOTIFIED IN WRITING. WASHER /DRYER 167 EX' ST * 3 RD
(1
2. ALL EXISTING MEMBER SIZES, SPACING, & DIMENSIONS MUST 024 ) | UNDERCOUNTER REFRIGERATOR 205 FLOOR FRAMING PLAN
BE FIELD VERIFIED. IN CASE OF DISCREPANCIES STRUCTURAL
ENGINEER MUST BE NOTIFIED IN WRITING.
3. PRIOR THE DRILLING OF EXISTING SLAB FOR NEW SLAB PENETRATION AS REQUIRED PROJECT TITLE:
FOR THIS PROJECT, X—RAY THE EXISTING SLAB AT THESE LOCATIONS TO AVOID TCMC SCHIFF FAMILY NICU
ANY CUT OF THE EXISTING REINFORCEMENT AND MAINTAIN 1 MIN. CONC. COVER RENOVATION
FOR ANY EXISTING REINFORCEMENT. SEE PLUMBING DRAWINGS FOR LOCATION. CROJEGT STEETNUVBER
MAX. 4”¢ CORE DRILL. 01549.01
DRAWN BY:
4. FILL HOLES IN THE EXISTING SLAB CREATED BY REMOVED PIPES, SEE DETAIL 3/SD3. Qﬂéw
SEE PLUMBING DRAWINGS FOR LOCATION. Checker S_Z
SCALE:
As indicated

DATE:

11/13/15

All rights reserved. No part of this work may be reproduced or copied in any form or by any means, graphic, electronic, or mechanical, including photocopying, recording, taping, or information and retrieval systems without written permission of the ARCHITECT. 1 O O 0/ C O N S T R l ' CT I O N D O C | | M E N TS




UNDER COUNTER REFRIGERATOR —
MAX. WEIGHT 205 LBS

UNDER COUNTER REFRIGERATOR
MAX. WEIGHT 205 LBS

3/8"¢ A307 BOLTS
THRU FLOOR TO STL.
ANGLE BELOW SLAB, TYP.

—

TALL FREEZER
MAX. WEIGHT 600 LBS

TALL FREEZER
MAX. WEIGHT 600 LBS

3/8"¢ A307 BOLTS
THRU FLOOR TO STL.

ANGLE BELOW SLAB, TYP.

N

[+I= o S
1/4"x3"x3" BENT ©
STEEL PLATE x3" WIDE !} N
AT EACH CORNER R
N
I EX'ST. 2_1/2” TH'CK ” ” ” X
N CONCRETE SLAB 1/4 x3 5" BENT = A
N B STEEL PLATE x3” WIDE
(FIELD VERIFY) A AT EACH CORNER W/
N - 3/8”¢ A307 BOLTS
N I THRU FLOOR TO STL. 1/4”°x3"x5" BENT - 2— #12 S.M. SCREWS
ANGLE BELOW, TYP. ”
pal | |  o_ 412 SM. SCREWS STEEL PLATE x3” WIDE giCEEFSF_QTISEELRAP{OAI‘\;EAT
1/4"x3"x3” BENT TO REFRIGERATOR AT ¢ AT EACH CORNER
2— #12 S.M. SCREWS STEEL PLATE x3” WIDE EACH STEEL PLATE O e
3/8"¢ A307 BOLT TO REFRIGERATOR AT AT EACH CORNER
THRU FLOOR TO STL. EACH STEEL PLATE »
ANGLE BELOW SLAB, TYP. o 31
217 L3x3x1/4” x3” LONG 27"
BELOW THE ANCHOR TYP. 317 2— #12 S.M. SCREWS
o A il TO REFRIGERATOR AT
L3x3x1 /4" x3” LONG EACH STEEL PLATE PLAN VIEW
BELOW THE ANCHOR TYP.
SIDE VIEW PLAN VIEW
FRONT VIEW
ANCHORAGE DETAIL FOR UNDER COUNTER REFRIGERATOR ANCHORAGE DETAIL FOR TALL FREEZER
I/ SCALE: 1"=1"-0" 001 @ SCALE: 1"=1'-0" 002
EXIST. 2—1/2" — . 3.25" 39" 48" 24"
- / L4x9x16GA EXIST. 2-1/2 2 ¢ ¢ Y
EXIST. CONC. JOISTS CONC. SLAB XX CONC. SLAR -
@ 48” 0.C., (FIELD VERIFY) x3" LONG, ' 5 L4x2x16GA
33 KSI BY x3" LONG,
\ Y MANUFACTURER Vs = = N 33 KSI BY
< | | | I 7 m— MANUFACTURER
—IN \ . —
3 \ L : ;r : ,,
~ ° | | | o~ S EXIST. 2—1/2
s CONC. SLAB
\ L3x3x1 /47 x3 LONG/ L3x3x1/4” x3” LONG N—— / ]
L—8x4x1/2 STEEL ANGLE x4” BELOW THE ANCHOR 3/8°¢ A307 BOLT BELOW THE ANCHOR 73N B ‘ | p ‘
3 WIDE W/ 3/8"¢ HILTI KB TZ THRU FLOOR TO STL. SD4
l\r) ”
N 2— #8 SM. SCREWS —— W/ 2” EMBEDMENT INTO ANGLE BELOW SLAB ™ 7 2 ?
* 10 HEADER BELOW EXIST. CONC. JOIST SYSTEM FURNITURE - /g | | \ |
MINI. THREE ATTACHMENT 0 3/8°¢ A307 BOLT
/ MAX. 1500 LBS /
CEILING PER ARCH. DETAIL A AT ALL ANCHORS ~ L3x3x1 /47 THRU FLOOR TO STL. L3x3x1 /4
«3” LONG ANGLE BELOW SLAB x3" LONG
SD4 BELOW THE BELOW THE
DBL. 1000S162—54 STUD § i ANCHOR ANCHOR
J HEADER W/ 400T125-54 , 41.75 , | 3.75 - e
MOUNT 16 GAGE FRAME TRACK TOP & BOTT. W= 2
W/ 4= #12 S.M. SCREWS SPAN MIN, THREE EXIST. N :
EQEH4/S|S%E1 'T—_OORHE{AE[ZEDRER - CONC. JOIST/BEAMS i ! ok DETAIL A AT ALL ANCHORS
' il i PLAN VIEW
: n 3/8"¢ A307 BOLT
~ = @ TYp. TYP. TOTAL OF 8
Al = S04/
N A ANCHORAGE FOR SYSTEM FURNITURE
— TYP. 6
HILL—ROM HEAD WALL T
| SCALE: 1"=1"-0
N MAX. WEIGHT 1387 LBS - \® J
- A 3
+H N
" | o
N ™~
ﬁ_
N~
" —— SYSTEM FURNITURE
o -
™ MAX. 1500 LBS
//
5 REFRIGERATOR
I
C.G. WT.=20 LBS
©
N
_— QUAKEHOLD INDUSTRIAL
7 GAGE PRE—MANUFACTURED —| | 5 zFLxE:? %?XPNTLELS@ES'AFEETI’_ 316
BRACKET ONE AT EACH i ~ ON OPP. SIDES OF FREEZER
END OF THE 2’ SECTION COUNTER TOP
TWO PER SECTION ] PER ARCH. _— QUAKEHOLD INDUSTRIAL
, EXIST. 2—1/2" CONC. SLAB Q CROSS BAR (24"x2") W/
3/8"¢ A307 BOLT \ / i E=g=m———=—o 3M ADHESIVE BEHIND
THRU FLOOR TO STL.\ —X REFRIGERATOR
ANGLE BELOW SLAB
~ N
e - 30.5” L -
|_3><3X1 /4‘” —_— R 4
2 LONG 3/8°¢ A307 BOLT
BELOW THE TYP. TOTAL OF 8
ANCHOR PLAN VIEW

S

©

ANCHORAGE FOR HILL-ROM HEADER WALL

SCALE:  17=1"-0 021

N
L)

S

A R

F

E |

H I T B C T

1350 Columbia Street, Suite 603
San Diego, CA 92101

P: 619-299-3917
F: 619-299-5084
www.sfeirarch.com

TCMC SCHIFF
FAMILY NICU
RENOVATION

TRI-CITY MEDICAL

CENTER
4002 VISTA WAY

OCEANSIDE, CALIFORNIA

92056

OWNER:

ARCHITECT:

STRUCTURAL:

ME&P:

TRI-CITY MEDICAL CENTER
4002 VISTA WAY

OCEANSIDE, CALIFORNIA 92056
TEL(760)724-8411

SFEIR ARCHITECTS

1350 COLUMBIA STREET, SUITE 603
SAN DIEGO, CALIFORNIA 92101
TEL(619)299-3917 FAX(619)299-5084

SUN STRUCTURAL ENGINEERING, INC.
2091 LAS PALMAS DRIVE, SUITE D
CARLSBAD, CALIFORNIA 92011
TEL(760)438-1188

DESIGN WEST ENGINEERING

5151 SHOREHAM PLACE, SUITE 240
SAN DIEGO, CALIFORNIA 92122
TEL(619)330-6043

SCALE: 1"=1"-0

ANCHORAGE FOR SYSTEM FURNITURE

7 SCALE: 1"=1"-0

ANCHORAGE DETAIL FOR COUNTER TOP REFRIGERATOR
”

All rights reserved. No part of this work may be reproduced or copied in any form or by any means, graphic, electronic, or mechanical, including photocopying, recording, taping, or information and retfrieval systems without written permission of the ARCHITECT

OSHPD COMMENTS 03.25.16

OSHPD COMMENTS 09.01.16

DESIGN CHANGES 09.01.16

OSHPD COMMENTS

12.22.16

OSHPD COMMENTS 03.03.17

03.03.17
04.14.17 ;

DATE:

A DESIGN CHANGES
S 20 S AR ot atn atun S e
M DESIGN CHANGES

REV: DESCRIPTION:

NN
O adh e Y

CONSULTANT

SUN Structural Engineering, Inc.
Consulting Structural Engineers

2091 Las Palmas Dr. Suite D
Carlsbad, California 92011
Tel: 760—438-1188

w WWw.sunse—inc.com

OSHPD APPROVAL STAMP:

OSHPD #: $S152912-37-00

SHEET TITLE:

DETAILS

PROJECT TITLE:

TCMC SCHIFF FAMILY NICU
RENOVATION

PROJECT #:
01549.01
DRAWN BY:
Author
CHECKED BY:
Checker
SCALE:

As indicated
DATE:

11/13/15

SHEET NUMBER:

SDI

- 100% CONSTRUCTION DOCUMENTS



12GA.x2"x2" STEEL PL.

TYP.

AN

12”9 EXHAUST
PER MECH.

A\

1/8" AIRCRAFT BRACING
CABLE, TOTAL OF FOUR
PER MECH.

COOK ISOLATION BASE

| TYP.

Dimsnalons. fndws) /
[Mark [oty [Deasrigtion  |[A ]I Caniariina |G ot |D | K Op. Halgkt |P O |
N e
AN DETAIL—A

#12 SCREWS @ 6" O.C.

EA. SIDE A

NEW EXHAUST FAN
MAX. WEIGHT 325 LBS

1/2"¢ A307 BOLTS (TOTAL OF 6 BOLTS)

COOK ISOLATOR _SRS2—-135 SET

W/ 2— 3/8"¢ A307 BOLT
TO STEEL CHANNEL BELOW

(TOTAL OF 8)
FOR MORE INFORMATION SEE DETAIL—A

WATER PROOFING

MC12x45 STEEL CHANNEL,TYP.
TO RECEIVE BOLTS FROM ISOLATOR

MIN. 17 SIKAGROUT 212
NON—SHRINK GROUT

PERARCH. TO LEVEL THE CURB A
I / I
7
/ v/ v/ v/ / _/ _/ |
EXIST. 4—1/2" THICK CONCRETE 20" 3/87¢ HILTI KB TZ EMBEDMENT 2”

(fc'=3000 PSI) OVER 2" W2
FORMLOCK 18 GA. METAL DECK
(FIELD VERIFY)

ANCHORAGE FOR NEW EXHAUST FAN

JO_CONCRETE TYP.

3/8"¢ HILTI KB TZ W/ 2" EMBEDMENT
INTO EXIST. CONCRETE LOCATED 6~
FROM EA. END OF STEEL CHANNEL
(2— BOLTS @ EA. STEEL CHANNEL)

2

INTO CONCRETE TYP.

1/8"¢ AIRCRAFT BRACING
CABLE, TOTAL OF FOUR
PER MECH.

COOK ISOLATOR _SRS2—-135 SET

[ ] W/ 2— 3/8"¢ A307 BOLT A
‘ TO STEEL CHANNEL BELOW
I | (TOTAL OF 8)
fffffff Loy | FOR MORE INFORMATION SEE DETAIL—A

‘ |
\
\
\
\

|
St | 1/2"¢ A307 BOLTS (TOTAL OF 6 BOLTS)

o |

2 i |
I | |
Tt— ‘o o
“C\J 2 } }

(@]
— | |
3/8”¢ HILTI KB TZ EMBEDMENT 2” | |
°] [

| |
B i —— Tk |
| |

1)_5_”
\COOK ISOLATION BASE

1,_8”

PLAN VIEW

ISOLATION BASE DETAIL

SCALE:

,I”:,I)_On

SCALE: 1"=1"-0"

AN

SEISMIC BRACKET BY
MANUFACTURER,

FOR MORE INFORMATION
SEE DETAIL 5/—

MAX. 45.43"

-

FRONT VIEW

PYXIS STATION
MAX. WEIGHT 1000 LBS

/

A\

SEISMIC BRACKET BY
MANUFACTURER,
FOR MORE INFORMATION

SEE DETAIL 5/—

USE 3/8" HILTI KB TZ
W/ 2" EMBEDMENT

MAX. 45.43"

EXIST. CONCRETE SLAB

>

| N | |
N

3/8"¢ A307 BOLTS
THRU FLOOR TO STL.
3/8"¢ A307 BOLTS ANGLE BELOW
THRU FLOOR TO STL.
ANGLE BELOW
WHEN EXIST. CONC. BM.
OCCUR AT THE ANCHOR

EXIST. CONCRETE BEAM

USE 3/8" HILTI KB TZ BELOW (FIELD VERIFY)
W/ 2” EMBEDMENT
NEW L3x3x1/4” STEEL ANGLE SIDE VIEW

BELOW THE ANCHOR TYP.

SEISMIC BRACKET BY
MANUFACTURER, FOR

MORE INFORMATION /\ EXIST. CONCRETE SLAB

SEE DETAIL 6/—

PYXIS STATION
//MAX. WEIGHT 1000 LBS

@// SEISMIC BRACKET BY

MANUFACTURER, FOR

A MORE INFORMATION l’\
SEE DETAIL 6/—

MAX. 34"
MAX. 34"

TOTAL OF 8-3/8"¢
» A307 BOLTS THRU FLOOR
TO STEEL ANGLE BELOW

(03]
NN
0
NG

TOTAL OF 8-3/8"¢

A307 BOLTS THRU FLOOR NEW L3x3x1/4” STEEL ANGLE
TO STEEL ANGLE BELOW BELOW THE ANCHOR TYP.

FRONT VIEW 3R i SIDE_VIEW

PYXIS MEDSTATION 4000 ANCHORAGE

3 DOUBLE STORAGE PYXIS ANCHORAGE

SCALE: 1"=1"-0" 004

SCALE: 17=1-0" 005
497" 203"
, ) 1o 1o
84 82 82 82
O O O O o) O O O
O O O O O @) @) O
/5\ SEISMIC BRACKET @ SEISMIC BRACKET
U SCALE: 1"=1"-0" u SCALE: 1"=1"-0"

S F E | R

1350 Columbia Street, Suite 603
San Diego, CA 92101

P: 619-299-3917
F: 619-299-5084
www.sfeirarch.com

TCMC SCHIFF
FAMILY NICU
RENOVATION

TRI-CITY MEDICAL
CENTER

4002 VISTA WAY
OCEANSIDE, CALIFORNIA
92056

OWNER: TRI-CITY MEDICAL CENTER
4002 VISTA WAY
OCEANSIDE, CALIFORNIA 92056
TEL(760)724-8411

ARCHITECT: SFEIR ARCHITECTS
1350 COLUMBIA STREET, SUITE 603
SAN DIEGO, CALIFORNIA 92101
TEL(619)299-3917 FAX(619)299-5084

STRUCTURAL: SUN STRUCTURAL ENGINEERING, INC.
2091 LAS PALMAS DRIVE, SUITE D
CARLSBAD, CALIFORNIA 92011
TEL(760)438-1188

ME&P: DESIGN WEST ENGINEERING
5151 SHOREHAM PLACE, SUITE 240
SAN DIEGO, CALIFORNIA 92122
TEL(619)330-6043

A\ OSHPD COMMENTS 03.25.16
A\ OSHPD COMMENTS 09.01.16
2
/A DESIGN CHANGES 09.01.16
tAA OSHPD COMMENTS 12.22.16
A /A\  OSHPD COMMENTS 03.03.17
/6\  DESIGN CHANGES 03.03.17
NV Y T Y O i O
/7\  DESIGN CHANGES 04.14.17 ;
AN ATTA AR IR AR IR TR S AA AT
REV: DESCRIPTION: DATE:

CONSULTANT

SUN Structural Engineering, Inc.
Consulting Structural Engineers

2091 Las Palmas Dr. Suite D
Carlsbad, California 92011
Tel: 760—438-1188

w WWw.sunse—inc.com

OSHPD APPROVAL STAMP:

OSHPD #: $S152912-37-00

SHEET TITLE:

DETAILS

PROJECT TITLE:

TCMC SCHIFF FAMILY NICU
RENOVATION

PROJECT #: SHEET NUMBER:
01549.01

DRAWN BY:

Author
CHECKED BY:
Checker
SCALE:

As indicated
DATE:

11/13/15

All rights reserved. No part of this work may be reproduced or copied in any form or by any means, graphic, electronic, or mechanical, including photocopying, recording, taping, or information and retrieval systems without written permission of the ARCHITECT. 1 O O 0/ C O N S T R l ' CT I O N D O C l ' M E N TS



12 GA. 6"x3" BENT PL. x3" S F E | R
C |

WIDE W/ 3/8"¢ HILTI KB TZ
W/ 2" EMBEDMENT INTO A R H T E C T S
FXST CONE BB T T 1350 Columbia Street, Suite 603

San Diego, CA 92101

EXIST. CONC. JOISTS
@ 48" O.C. P: 619-299-3917
2— #8 S.M. SCREWS aN F: 619-299-5084

EXISTING HOLE (MAX. 87x8") www.sfeirarch.com
TO BE FILLED WITH SIKAGROUT 212
NON—SHRINK GROUT

T TCMC SCHIFF

$
i =
- T FAMILY NICU
il 1Ly RENOVATION
L—2x2x3/16 METAL ANGLE W/ 2 12 2
2— #8 S.M. SCREWS EA. END NEW 1/4”x15"x15” STEEL 7 77 EXISTING 2—1/2” THICK CONCRETE
PLATE WITH 4— 3/8”g HILTI SLAB (FIELD VERIFY)
KB TZ EMBEDMENT 2" INTO
SSMA 3625162—43 METAL EXISTING SLAB
STUD BRACE © 48" O.C. MAX. TRI-CITY MEDICAL
(SPAN = 6 MAX.)
A CENTER
5 "|BRACING DETAIL @FILL IN EXISTING HOLE IN SLAB 4002 VISTA WAY
\ & JSCALE: 17=1-0" \~Y JSCALE: 1"=1"-0" OCEANSIDE, CALIFORNIA
92056
AN A
L—6x33%x3/8 STL. ANGLE x3” L—6x33x3/8 STL. ANGLE x3”
WIDE W/ 3/87¢ HILTI KB TZ WIDE W/ 3/8"9 HILTI KB TZ OWNER: TRI-CITY MEDICAL CENTER
W/ 2" EMBEDMENT INTO W/ 2” EMBEDMENT INTO 4002 VISTA WAY

OCEANSIDE, CALIFORNIA 92056

EXIST. CONC. JOIST EXIST. CONC. JOIST TEL(760)724-8411
@ 24”7 O.C. @ 24”7 O.C.
_ ” {i \ ARCHITECT: SFEIR ARCHITECTS
- gocoswwaz 25_4 SSTUSDE @SCZR4EWS 1 ) . EXIST. CONC. BEAM EXIST. CONC. JOISTS 1350 COLUMBIA STREET, SUITE 603
Lo .C. W/ #3 S.M. L—6x37x3/8 STL. ANGLE x3 (FIELD VERIFY) (FIELD VERIFY) SAN DIEGO, CALIFORNIA 92101
E@Xli; gOCNC. JOISTS T EA. END WIDE W/ 3/8°% HILTI KB TZ - TEL(619)299-3917 FAX(619)299-5084
W/ 2" EMBEDMENT INTO STRUCTURAL: SUN STRUCTURAL ENGINEERING, INC.
EXIST. CONC. BEAM 2091 LAS PALMAS DRIVE, SUITE D
@ 24” O.C. CARLSBAD, CALIFORNIA 92011

TEL(760)438-1188

s s e YINE - e = ME&P: DESIGN WEST ENGINEERING
. , 5151 SHOREHAM PLACE, SUITE 240
R " 5 SAN DIEGO, CALIFORNIA 92122
', iy ; TEL(619)330-6043
, ”
= | — 48 S.M. SCREWS @ 16

| #8 SM. SCREWS @ 16”

- 0.C. EA. SIDE TYP.
'f\r) ‘/ 2 \
| ~

// CEILING PER ARCH. CEILING PER ARCH. //

0.C. EA. SIDE TYP.

¥/ #8 S.M. SCREWS @ 16~

0.C. EA. SIDE TYP. CEILING PER ARCH.

MOUNT 16 GAGE FRAME — K MOUNT 16 GAGE FRAME — \\ MOUNT 16 GAGE FRAME\/ N

W/ 4= #12 SM. SCREWS DBL. 6005162—54 STUD W/ 4— #12 SM. SCREWS DBL. 800S162—54 STUD W/ 4— #12 S.M. SCREWS —— DBL. 1200S162—54 STUD
FACH SIDE TO HEADER HEADER W/ 400T125-54 EACH SIDE TO HEADER HEADER W/ 400T125-54 EACH SIDE TO HEADER HEADER W/ 400T125-54
TRACK TOP & BOTT. TRACK TOP & BOTT. TYP. TRACK TOP & BOTT. TYP.

A OSHPD COMMENTS 03.25.16

A OSHPD COMMENTS 09.01.16

2

/3\  DESIGN CHANGES 09.01.16

HILL—ROM HEAD WALL — | HILL—ROM HEAD WALL HILL—ROM HEAD WALL L ROM HEAD WAL A OSHPD COMMENTS 1222.16

MAX. WEIGHT 1387 LBS MAX. WEIGHT 1387 LBS\ MAX. WEIGHT 1387 LBS\ MAX. WEIGHT 1387 LBS /2 A\ 0SHPD COMMENTS 03.03.17

A DESIGN CHANGES 03.03.17
A Mf\ﬂwwwwr =Y~ e e ey
‘é DESIGN CHANGES 04.14.17 ;
Sé,_. AN

\ VW’&M/&/’\WMW
‘é’" —‘él/ REV: DESCRIPTION: DATE:

CONSULTANT

SUN Structural Engineering, Inc.

EXIST. METAL STUD EXIST. METAL STUD T EXIST. METAL STUD Consulting Structural Engineers
WALL TO REMAIN WALL TO REMAIN WALL TO REMAIN 01 Las bormos br Surts D
(FIELD VERIFY) (FIELD VERIFY) (FIELD VERIFY) ,, | Carlsbad, California 92011
Tel: 760—438-1188
’ ’ ’ w WWW.SUI’]SG_iﬂC.Com
OSHPD APPROVAL STAMP:
OSHPD #: S152912-37-00
3/8"¢ A307 BOLT
7 GAGE PRE—MANUFACTURED 7 GAGE PRE—MANUFACTURED —| 7 GAGE PRE-MANUFACTURED —| Tk{RU oo ETBO -
BRACKET ONE AT EACH BRACKET ONE AT EACH BRACKET ONE AT EACH ANGLE BRLOW SLaB
END OF THE 2’ SECTION END OF THE 2° SECTION END OF THE 2’ SECTION
TWO PER SECTION TWO PER SECTION TWO PER SECTION TYP.
3/8"0 A307 BOLT —| \ EXIST. 2—1/2" CONC. SLAB 3/8"0 A307 BOLT \ EXIST. 2—1/2" CONC. SLAB 3/8"0 A307 BOLT \ EXIST. 2—1/2" CONC. SLAB
THRU FLOOR TO STL. THRU FLOOR TO STL.\ THRU FLOOR TO STL\ e
ANGLE BELOW SLAB ANGLE BELOW SLAB ANGLE BELOW SLAB ,/
J 7 < 7 < 7
L 3x3x1 /4" L3x3x1/4” / L 3x3x1 /4"
3" LONG x3" LONG L3x3x1/4 3" LONG
BELOW THE BELOW THE x3 LONG BELOW THE SROJECTTITLE.
ANCHOR ANCHOR BELOW THE ANCHOR TCMC SCHIFF FAMILY NICU
2 ANCHOR
1 G = RENOVATION
@ A PROJECT #: SHEET NUMBER:
\Sb5/ A S \SD4/ 01549.01

A\
ANCHORAGE FOR HILL-ROM HEADER WALL /5\ ANCHORAGE FOR HILL-ROM HEADER WALL @ ANCHORAGE FOR HILL-ROM HEADER WALL e SD3

As indicated
9 ) 9 DATE:
SCALE: 17"=1"-0 027 11/13/15

L" SCALE: 1"=1'-0" 021 SCALE: 1"=1'-0" 021

All rights reserved. No part of this work may be reproduced or copied in any form or by any means, graphic, electronic, or mechanical, including photocopying, recording, taping, or information and retrieval systems without written permission of the ARCHITECT. 1 O O 0/ C O N S T R l ' CT I O N D O C l ' M E N TS



SYSTEM FURNITURE
C

MAX. 1500 LBS SYSTEM FURNITURE A R
MAX. 1500 LBS

E | R

H I T E C T S

1350 Columbia Street, Suite 603
San Diego, CA 92101

— SYSTEM FURNITURE / F. 619-290.-5084
%MAX 1500 LBS w * I : I p— I 2 F: 619-299-5084
' . _/ = ’—H www.sfeirarch.com
. ‘ [ Il i i ij [ | — I
& I [ I I I —— ——
g — = TCMC SCHIFF
[ EXIST. 2—1/2”
CONC. SLAB o EXIST. 2—1/2" ™ EXIST. 2—1/2" FAM LY N CU
= i / N CONC. SLAB ~ CONC. SLAB I I
| h— S | - RENOVATION
~ [ I
] ]
3/8°% A307
. THRU BOLT, TYP. 3/8"¢ A307 3/8"9¢ A307
%SXBR?C/ET\/EB ANLCOHNgR THRU BOLT, TYP. THRU BOLT, TYP.
BOLT, TYP L3x3x1/4 x3" LONG L3x3x1/4 x3” LONG
’ ’ TO RECEIVE ANCHOR TO RECEIVE ANCHOR TRI_CITY MEDICAL
ELEVATION SOLT, TP ELEVATION ELEVATION SOLT e CENTER
ANCHORAGE FOR SYSTEM FURNITURE /"~ \ANCHORAGE FOR SYSTEM FURNITURE /" \ANCHORAGE FOR SYSTEM FURNITURE 4002 VISTA WAY
IJ SCALE: 1/2"=1-0" &ZJ SCALE: 1/2"=1"-0" KsJ SCALE: 1/2"=1-0" OCEANS|DE’ CALIFORNIA
EXIST. CONC. JOISTS ) 92056
@ 48" 0.C. (FIELD VERIFY) L—8x4x1//2/STEEL ANGLE x4
WIDE W/ 3/8"¢ HILTI KB TZ
A 2— #8 S.M. SCREWS EXIST. 18” CONC. WALL .
EXST, 2-1/2° M 2 CHREOMENT INTO 10 FEADER BELOM (PELD VERF) b5 s 45
CONC. SLAB MINI. THREE ATTACHMENT TYP. NEW 1"x12 GA. METAL OCEANSIDE, CALIFORNIA 92056
(F|E|_D VER|FY) STRAP WRAP AROUND TEL(760)724-8411
THE NEW 1 2” DUCT ARCHITECT: SFEIR ARCHITECTS

) 1350 COLUMBIA STREET, SUITE 603
NEW L—2x2x3/16 NEW 12" DUCT SAN DIEGO, CALIFORNIA 92101
DUCT SUPPORT \ PER MECH. TEL(619)299-3917 FAX(619)299-5084
TYP. HORIZONTAL

STRUCTURAL:  SUN STRUCTURAL ENGINEERING, INC.
AND VERTICAL 2091 LAS PALMAS DRIVE, SUITE D

CEEA R NEW 3/8"x4"x6” CARLSBAD, CALIFORNIA 92011
» W/ 2— 3/87¢ HILTI TEL(760)438-1188
NEW 1/4%8 BOLT — | /\ / / l | (760)

KB TZ W/ 2" INTO

v »
1 —OQ
47 2"
N
F%‘

° ° ° ° ° ° LN ° ° - TYP. ME&P: DESIGN WEST ENGINEERING
e \ A CONC. TP, \, 5151 SHOREHAM PLACE, SUITE 240
' ) SAN DIEGO, CALIFORNIA 92122
< 5 > NEW UNISTRUT P1000 x16° LONG

TEL(619)330-6043

: ° : : : > : : : . W/ 2— 3/8"¢ HILTI KB TZ
Pt CEILING " .
W W W/ 2” EMBEDMENT INTO CONC.
|- J - / NEW 1”x12 GA. METAL
MOUNT 16 GAGE FRAME —{1] \ STRAP W/ 2-1/2"¢ 12”¢ DUCT PER
W/ 4— #12 SM. SCREWS T DBL. 1000S162—54 STUD EXIST. 4—1/2" THICK CONCRETE A307 BOLTS TO MECH.
EACH SIDE TO HEADER HEADER W/ 400T125-54 (fc’=3000 PSI) OVER 2”7 W2 UNISTRUT
EVERY 2’ SECTION TRACK TOP & BOTT. FORMLOCK 18 GA. METAL DECK
SPAN MIN, THREE EXIST. (FIELD VERIFY)

CONC. JOIST/BEAMS

5 ANCHORAGE FOR NEW DUCT @ ANCHORAGE FOR NEW DUCT
\\ ” ’ ”
\TleLtL_,RﬁEAAx.HEWAE?GHT\ 48 S.M. SCREWS @ \ / SCALE: 1/2"=1'-0" K J SCALE: 1/2"=1"-0 A\ OSHPD COMMENTS 03.25.16
1387 LBS 16" O.C. EA. SIDE
: 135’ HSS 2x2x1/4” HORIZ /2 OSHPD COMMENTS 09.01.16
N ” . ’
™~ 12.6 - 3/8 BOLTS STEEL TUBE 2 A\ DESIGN CHANGES 09.01.16
Nlj AT TOP OF VFD 2— 3/8"¢ BOLTS k‘A OSHPD COMMENTS 12.22.16
. 7$7 I | AT TOP A /5\  OSHPD COMMENTS 03.03.17
= — N — —"'fﬁ A%DESIGN CHANGES e, 30317
+| : NI e | N smencrmees T
VFD WE| GH T ‘ ‘ ‘ ‘ ‘ H SS 2)(2)(1 /4” VER T REV: DESCRIPTION: DATE:
P 134 LBS —  Hss 2x2x1/4” HORIZ. VFD WEIGHT 134 LBS — | ‘ ‘ STEEL TUBE TYP. CONSULTANT
b'j [ N STEEL TUBE TYP. N TOTAL OF TWO =) SUN Structural Engineering, Inc.
5 ‘ ‘ ‘ ‘ ‘ Consulting Structural Engineers
! . » 2091 Las Pal Dr. Suite D
o || R HSS 2x2x1/4" VERT. . \ Carlsbad, Colitornia 92011
N B 1. 760-438-1188
|_—7 GAGE PRE—MANUFACTURED ‘ ‘ ‘ ‘ STEEL TUBE TYP. i ENGINEERING wilw.sunse—inc.cém
BRACKET ONE AT EACH OSHPD APPROVAL STAMP:
END OF THE 2’ SECTION [ H N
/\ AT BOTTOM OF VFD 2— 3/8"s BOLTS N
[ P AT BOTTOM U
] \Hsts 2x2x1 /4" HORIZ. \ﬁs\ "
i STEEL TUBE | ] HSS 2x2x1/4” HORIZ.
© [ N STEEL TUBE )
Lo N N TYP. N =5
Lo
. 567 NI . | ]
::C) ”
EXIST. 2—1/2" h| 1 /2x12°x12” STEEL PLATE EXI’S_T. 4—1/2" THICK C?NCRETE ‘ ‘
CONC. SLAB o || || W) 4e 3/ HILT KB T2 (fc’=3000 PSI) OVER 2" W2 .
N | EMBED MIN. 2" INTO FORMLOCK 18 GA. METAL DECK TP, E—
| | | CONC. SLAB TYP. (FIELD VERIFY) | | 3/16
. . . . . . . . , i i
Pd 3/4” NON SHRINK ‘ ‘
I ‘“‘[ J"" ‘”‘[ J’“‘ ‘”‘[ J‘”‘ ‘“‘[ [ N GROUT | DETA”_S
/ 4 I || ] ] L/ y ‘
3/8%¢ A307 BOLT . ] T Sl
THRU FLOOR TO STL. Lgﬁi%‘é - f : |
ANGLE BELOW SLAB, X PROJECT TITLE:
TYP. AN J J SV = S - TCMC SCHIFF FAMILY NICU
, : - \ RENOVATION
0" " " A" EXIST. 4—1/2" THICK CONCRETE PROJECT # SHEET NUMBER:
20 20 2-0 2=0 (fc=3000 PSI) OVER 2” W2 0154501
FRONT VIEW FORMLOCK 18 GA. METAL DECK SIDE VIEW Author
(FIELD VERIFY) crecreos E ; D !

SCALE: 1"=1"-0" DATE:
11/13/15

AILL-ROM HEADWALL ANCHORAGE /" ) FRAME AND ANCHORAGE FOR VFD /"~ \ FRAME AND ANCHORAGE FOR VFD
7 SCALE: 1"=1"-0" @SCALE: 1"=1"-0" \?J As indicated

All rights reserved. No part of this work may be reproduced or copied in any form or by any means, graphic, electronic, or mechanical, including photocopying, recording, taping, or information and retrieval systems without written permission of the ARCHITECT. 1 O O 0/ C O N S T R l ' CT I O N D O C l | M E N TS



/2\ _ ) 2~ #8 S.M. SCREWS EXIST. CONC. BEAM ” S F E | R
@ 24" O.C. WIDE W/ 3/8"8 HILTI KB TZ Tvp WIDE W/ 3/8"¢ HILTI KB TZ AR C H I T E CT S
W/ 2” EMBEDMENT INTO ' EXIST. 2—1/2” W/ 2" EMBEDMENT INTO 2— #8 S.M. SCREWS
EXIST. 2—1/2" EXIST’.’ CONC. JOIST CONC. SLAB EXIST’.’ CONC. JOIST TO HEADER BELOW ) )
CONC. SLAB @ 247 O.C. 2— #8 S.M. SCREWS (FIELD VERIFY) @ 24" 0.C. VP, 18350DCiolumg|2 g;r1e0e1t, Suite 603
(FIELD VERIFY) TO HEADER BELOW an Uiego,

e, P: 619-299-3917
< ] < F: 619-299-5084

/ \ www.sfeirarch.com

TCMC SCHIFF

]

Q\
@)
I

@

—

4” 27’

/
\
dfpema
g

N
gz
gz

o EXIST. CONC. JOIST 2 : P2 : T : B P 3 - T :
» s g N FAMILY NICU
— \ AN g ™
o o o o o o O\ o o o o o o o o o O\ o o o
-~ < > | RENOVATION
PER ARCH. PER ARCH.
—— DBL. 600S162—54 STUD
MOUNT 16 GAGE FRAME —f HEADER W/ 400T125-54 MOUNT 16 GAGE FRAME —tf
W/ |4— #12 S.M. SCREWS TRACK TOP & BOTT. W/ |4— #12 S.M. SCREWS
EACH SIDE TO HEADER EACH SIDE TO HEADER \
EVERY 2" SECTION EVERY 2" SECTION DBL. 600S162—54 STUD
HEADER W/ 400T125-54 TRl-ClTY MED'CAL
TRACK TOP & BOTT. CENTER
HILL—ROM HEAD ™ HILL—ROM HEAD ™ 4002 VISTA WAY
- I B T - I B [T
WALL, MAX. WEIGHT \ ;142 s(.)M(.: SECARE\Q/I?)E@ WALL, MAX. WEIGHT \ ;142 S(.)M(.: SECARE\Q/EE@ OCEANSIDE, CALIFORNIA
1387 LBS L. BA. 1387 LBS L. BA.
. . 92056
o o
| |
ok ok OWNER: TRI-CITY MEDICAL CENTER
— _Q_ — _Q_ 4002 VISTA WAY
— ~ OCEANSIDE, CALIFORNIA 92056
-+ -+ TEL(760)724-8411
ARCHITECT: SFEIR ARCHITECTS
1350 COLUMBIA STREET, SUITE 603
:O :C) SAN DIEGO, CALIFORNIA 92101
| | TEL(619)299-3917 FAX(619)299-5084
o™ ™
STRUCTURAL: SUN STRUCTURAL ENGINEERING, INC.
2091 LAS PALMAS DRIVE, SUITE D
CARLSBAD, CALIFORNIA 92011
TEL(760)438-1188
|_—7 GAGE PRE—MANUFACTURED |_—7 GAGE PRE—MANUFACTURED
BRACKET ONE AT EACH BRACKET ONE AT EACH ME&P: DESIGN WEST ENGINEERING
END OF THE 2 SECTION END OF THE 2' SECTION 21\5&S.E%§E22ﬂ55235432”1§§2“°
TWO PER SECTION TWO PER SECTION TEL(619)330-6043
EXIST. 2—1/2" EXIST. 2—1/2"
CONC. SLAB CONC. SLAB

e d ' A\ OSHPD COMMENTS 03.25.16
e = e =
_ﬁ—[ J—F _H—[ 2d _ﬁ—[ J—F _ﬁ—[ _ﬁ—[ J_E_‘ hu—[ 2d _E—l J_E_‘ _E—l A OSHPD COMMENTS 09.01.16
” ”/ ” ”/ 2
00 FLOOR 10 STL e 0 FLOOR 10 STL e b 4 oesonoumces
. x3” LONG . x3" LONG A OSHPD COMMENTS 12.22.16
ANGLE BELOW SLAB, BELOW THE ANGLE BELOW SLAB, BELOW THE /N A 03.03.1
TYP. ANCHOR, TYP. TYP. ANCHOR, TYP. OSHPD COMMENTS 0317
/6\  DESIGN CHANGES 03.03.17
Ny O o4 e ey
2)_0” 2)_0” 2)_0” 2)_0” 2)_0” 2)_0” 2)_0” 2)_0” &WW;
REV: DESCRIPTION: DATE:
CONSULTANT
HILL-ROM HEADWALL ANCHORAGE /\ HILL-ROM HEADWALL ANCHORAGE SUN Structural Engineering, Inc.
I 2 Consulting Structural Engineers
SCALE:  1"=1"-0" USCALE: 1"=1"-0" 2091 Las Palmas Dr. Suite D
Carlsbad, California 92011

Tel: 760—438-1188
ENCINEERING

WWW.sunse—inc.com
fASE’\'f'iLZ)g%S[;Gég:gE OSHPD APPROVAL STAMP:
2 s ™ T OSHPD #: $152912-37-00
A SSMA 362T125-83
ig Eﬂ%KISN’\é PSI_CARTEEW © TOoP BACKING CHANNEL SEE 10/S—1 METAL TRACK W/
W/ 3— #10 S.M. SCREWS 2— #8 S.M. SCREWS
TO EA. STUD, TYP. TO EACH STUD TYP.
CONNECT THE END OF THE TOP TRACK
,\SAl/’;IE F\)NEET@_A'?EE‘O LBS TO WALL THAT ARE PERPENDICULAR TO
. = yd THE SOFFIT W/ 2— #8 S.M. SCREWS
- TS CEILING HEIGHT
i PER ARCH.
| \ >
\ <§E SHEET TITLE:
-l- -
¥ ¥ ! + o~
2— #12 SM. SCREW @ BOTTOM— - —
TO BACKING PLATE S oS @ 16" O 1 “\4 DETAILS
\/ EXISTING METAL STUDS \ SMSEMT/ngZTLSjD@SZ;;“
12.2" @ 16" 0.C. I\SA?EMFQ\I_3$RZAT1CE<5VV34 16" 0.C. PROJECT TITLE:
2— #8 S.M. SCREWS TCMC SCHIFF FAMILY NICU
B N TO EACH STUD TYP. RENOVATION
PROJECT #: SHEET NUMBER:
{i} . 01549.01
L 26 M AX DRAWN BY: A
A Author
CHECKED BY: D 5
Checker
ANCHORAGE FOR WALL MOUNTED SINK /", \SOFFIT CONNECTION DETAIL S
As indicated
3 SCALE: 17=1"-0" LI- SCAlE: 17 =1'—0” oSt

11/13/15

v All rights reserved. No part of this work may be reproduced or copied in any form or by any means, graphic, electronic, or mechanical, including photocopying, recording, taping, or information and retrieval systems without written permission of the ARCHITECT. 1 O O 0/ C O N S T R l ' CT I O N D O C l ' M E N TS



S F E | R

2— #12 S.M. SCREW @ 24” O.C.
FROM JAMB STUD TO NEW DOOR FRAME NEW SSMA 362S162—43 A R H e T s
STUDs @ 16" O.C. 1350 Columbia Street, Suite 603
r San Diego, CA 92101
S
1/8” 1—1/2"-24" P: 619-299-3917

NEW SSMA 3625162—43 METAL ——
STUDS @ 16" O.C.
NEW DOUBLE SSMA 3625162-54

NEW SSMA 362T200-43 BY OTHERS EACH STUD www.sfeirarch.com
METAL TRACK
1 —#8 S.M. SCREW FACH SIDE NEW DBL. 400S162—43 STUDS NEW 360719545 TRACK
OF EACH VERTICAL STUD - - I ( :M( : S( ;HIFF
TO METAL TRACK HEADER AT NEW DOOR W/ 2 ROWS #8 S.M. SCREWS
T s e FAMILY NICU
METAL STUDS DOOR JAMB NEW SSMA 362S162—43 METAL o s ~

FXIST. CONCRETE STUDS @ 16” O.C. SN ' R A I
SLAB (FIELD VERIFY) N : ENOV ION
\ NEW 362T125-43 TRACK

DOOR/WINDOW JAMB CONNECTION PLAN VIEW 5
W/ #8 S.M. SCREWS @ 12" 0.C.

/é\ R CUT FLANGES OF THE STUDS — W
\ / SCALE: 1-1/2"=1"-0 EA. SIDE

ATTACH TO JAMB STUDS

NEW 3/87¢ HILTI KB TZ W/
2” MIN. EMBEDMENT
INTO CONC. @ 24" O.C.

TYP.

W/ 6— #8 S.M. SCREWS NEW 16 GA. x2"x2” CLIP ANGLE x3” WIDE
EACH SIDE W/ 2— #8 S.M. SRCEWS EACH LEG TRI-CITY MEDICAL
IS\ITEJVDSSS@I;/IA1 éSESZOSiOO—ArB METAL —— NEW DOUBLE 3625200—43 CENTER
G . 2 . METAL STUDS DOOR JAMS 4002 VISTA WAY
— NEW 3627125-43 TRACK \SD8/ OCEANSIDE, CALIFORNIA
W/ 2 ROWS #8 S.M. SCREWS O.H. 92056
” NOTES: MAXIMUM DOOR OPENING WIDTH TO BE 9'-0"
TYPICAL PARTITION TO FLOOR CONNECTION © 127 0.C. TO HEADER DOOR/WINDOW HEADER
I SCALE: 1-1/2"=1"-0" SCALE: 17’=1"-0" OWNER: TRI-CITY MEDICAL CENTER
4002 VISTA WAY
#8 S.M. SCREW EACH SIDE OCEANSIDE, CALIFORNIA 92056
EACH STUD TEL(760)724-8411
ARCHITECT: SFEIR ARCHITECTS
NEW SSMA 3625162-45 METAL 1350 COLUMBIA STREET, SUITE 603
NEW DBL. 400S162—43 STUDS STUDS @ 16" O.C. SAN DIEGO, CALIFORNIA 92101
DB 00510249 \ , TEL(619)299-3917 FAX(619)299-5084
/ NEW DOUBLE 362S162—54 STRUCTURAL: SUN STRUCTURAL ENGINEERING, INC.
METAL STUDS DOOR JAMB 2091 LAS PALMAS DRIVE, SUITE D
CARLSBAD, CALIFORNIA 92011
35— #8 S.M. SCREWS NEW 362712555 TRACK 1 —#8 S.M. SCREW EACH SIDE [T
o 48 S.M. SCREW @ 12” 0.C. METAL TRACK OF EACH JAMB STUD ME&P: DESIGN WEST ENGINEERING
SSMA 362S162—43 METAL EACH SIDE FROM TRACK 5151 SHOREHAM PLACE, SUITE 240
STUD BRACE @ 48” 0.C. MAX NEW 3627T125—43 TRACK TO TRACK SAN DIEGO, CALIFORNIA 92122
e ’ TO HEADER NEW 3/8"¢ HILTI KB TZ W/ TEL(619)330-6043
SSMA 362T200—43 CUT THE FLANGES AND BEND !
METAL TRACK W/ THE WEB AT END |§TOM'CN(’)NECMBgD“2"Ef‘TO . EXIST. 4” CONCRETE
2— #8 SM. SCREWS ALTERNATE THE SIDE OF BRACING NOTES: NO SPLICE IS ALLOWED FOR HEADER STUDS AND TRACKS ' - SLAB (FIELD VERIFY)
TO EACH STUD WHERE POSSIBLE
N
y

PER ARCH.

0 CEILING HEIGHT ? /"= DOOR/WINDOW HEADER $

\5/ SCALE: 1-1/2"=1"-0"

‘
N
|
Nl

A\ OSHPD COMMENTS 03.25.16

NEW SSMA 3625162—43 METAL e N NEW 3/8"¢ HILTI KB TZ W/ B oSHPD COMMENTS 90116
STUDS @ 16” 0.C. 2” MIN. EMBEDMENT A

/ \ INTO CONC. W/ 2"x2"x3/16” /3\  DESIGN CHANGES 09.01.1

} : J' STEEL PLATE WASHER ICBO# 1385 A OSHPD COMMENTS 12.22.16

A A\ OSHPD COMMENTS 03.03.17

DESIGN CHANGES 03.03.17

qila NV VYT T T O A O
— A DESIGN CHANGES 04.14.17 ;

TYPICAL BRACING AT TOP OF PARTITION N \ DOOR/WINDOW JAMB CONNECTION e S e

BRACING WHERE POSSIBLE SUN Structural Engineering, Inc.

CONSULTANT
Ly SCALE: 1-1/2"=1"-0" By ALTERNATE THE SIDE OF @ SCALE: 17"=1"-0" -

Consulting Structural Engineers

2091 Las Palmas Dr. Suite D
Carlsbad, California 92011
Tel: 760—438-1188
WWWw.sunse—inc.com

1 —#8 x1/2” LONG WAFER HEAD A / \ CEILING HEIGHT ?

SCREW EA. SIDE OF EACH STUD PER ARCH
NEW 3/87¢ HILTI KB TZ W/ CONNECT TO DEFLECTION TRACK \\ / :

2" MIN. EMBEDMENT
EXIST. CONCRETE SSMA 3625162-43 METAL
SLAB (FIELD VERIFY) // STUD © 168" 0.C.

ENGINEERING

OSHPD APPROVAL STAMP:

OSHPD #: $S152912-37-00

INTO CONC. @ 24" O.C.
3— #8 S.M. SCREWS
NEW 3625162—-335 METAL

STUD BRACE EACH SIDE OF
NEW DOOR CUT FLANGES AND

SSMA 362T200—43

: 1 T

|
!
~

% METAL TRACK W/ BEND THE WEB CONNECTING TO
- 2— #8 S.M. SCREWS TRACK W/ 3— #8 S.M. SCREWS
~ TO EACH STUD .
n © CEILING HEIGHT
PER ARCH.
SHEET TITLE:
’ SSMA 362T200—43 w
METAL TRACK W/ EXIST. CONCRETE
NEW 18 GA. DEFLECTION TRACK ICC ESR—5344 2— #8 S.M. SCREWS DETA”_S
W/ 3/8”¢ HILTI KB TZ T0 EACH STUD — SLAB (FIELD VERIFY)
NEW SSMA 3625162—43 METAL —— BOLTS EMBEDMENT 2” INTO CONCRETE
STUDS @ 16” O.C. (5" EMBEDMENT INCLUDE / \
THE METAL DECK THICKNESS) | | . | | DOUBLE SSMA 362S162-54 METAL PROJECTTTLE
AT 24" O.C. I i STUDS AT DOOR JAMB TCMC SCHIFF FAMILY NICU
| / | RENOVATION
PROJECT #: SHEET NUMBER:
_ 01549.01
a
CHECKED BY:
Checker
7 TOP OF FULL HEIGHT PARTITION TYPICAL NEW PARTITION /é\ BRACE TO DOOR JAMB CONNECTION S D 6
SCALE: 1—1/2”217—0” 8 SCALE: 1/2,,:1,_0,, \/ SCALE: 1—1/2 =1-0 1DT/—?3/15

All rights reserved. No part of this work may be reproduced or copied in any form or by any means, graphic, electronic, or mechanical, including photocopying, recording, taping, or information and retrieval systems without written permission of the ARCHITECT. 1 O O 0/ C O N S T R l ' CT I O N D O C l ' M E N TS



DUCT OR FILTER BOX
PER MECH. DRAWINGS 23" EXHAUST FAN S F E | R
MAX. WT. = 150 LBS. 3/16
g - 1 ” AR C H I T E C T S
/ / T/ 1350 Columbia Street, Suite 603
L= 3x3x1 /4 4 i San Diego, CA 92101

e J 2= 12 SM. SCREWS L o o«

2 EA. SIDE 3/16 20 _ ., N P: 619-299-3917

e 1 i x3x1/4 ~ _—1/2"8 A307 ) F: 619-299-5084

» N\ BOLTS OVER 10 www.sfeirarch.com

L— 3x3x1/4 \ NEOPRENE o .
- \ 5 375 (TP PAD EA. CORNER 4"x10"x1/4" ST. PLATE
N o F ol 4 W/ 2— 3/8"¢ A307 THRU
\ BOLTS
. TCMC SCHIFF
10)) \
] . . > | L-3x3x1/4 W/ 2—
o 4"x10"x1/4” ST. PLATE = T3 N vp. 3/8” A307 BOLTS BASE PLATE DETAIL FAM I LY N ICU
-~ W/ 2— 3/8"¢ A307 THRU 5 3/16"] A o
| \ | — | e LTS co e SCALE: 1”=1"-0
> - TYP. \\ ' —
= 3/16”] ~— - 3x3x1/4 $A I T - 4[ { U
w ,, <t e 4 -
- 316N A A BASE PLATE DETAIL | ] ]
‘ ! N\ =/ SCALE: 1"=1'-0"

L L | L typ. EXIST. 2—1/2” THICK -
‘ CONCRETE SLAB ;N2E2X1T64RSEEEEEI\|7E TRl ClTY MEDICAL
1%“ (FIELD VERIFY) BOLTS, TYP. CENTER
typ. EXIST. 2—1/2" THICK L~ 3x3x1 /4 STEEL 4002 VISTA WAY
CONCRETE SLAB ANGLE T RECEIVE OCEANSIDE, CALIFORNIA
(FIELD VERIFY) BOLTS, TYP.

DUCT/FILTER BOX ABOVE ROOF SUPPORT EXHAUST FAN ABOVE ROOF SUPPORT 92056

|/ SCALE: 1"=1'-0’ @J SCALE: 1"=1"-0"
OWNER: TRI-CITY MEDICAL CENTER

4002 VISTA WAY
OCEANSIDE, CALIFORNIA 92056
TEL(760)724-8411

ARCHITECT: SFEIR ARCHITECTS
1350 COLUMBIA STREET, SUITE 603
W SAN DIEGO, CALIFORNIA 92101
TEL(619)299-3917 FAX(619)299-5084

EXHAUST FAN

FILTER BOX, MAX. MAX. WT. = 150 LBS. STRUCTURAL: SUN STRUCTURAL ENGINEERING, INC.
WT=78 LBS 2091 LAS PALMAS DRIVE, SUITE D
CARLSBAD, CALIFORNIA 92011
TEL(760)438-1188

6" CONCRETE PAD W/ ME&P: DESIGN WEST ENGINEERING
_ W 4 REBARS @ 16” O.C. N 5151 SHOREHAM PLACE, SUITE 240
L—3x3x1/4 HORIZONTAL BACKING CHANNEL SEE 10/S-1 EA/. %NAY PLACED AT MID— 3/87¢ HILTI KB—TZ SAN DIEGO, CALIFORNIA 92122
SUPPORT EA. SIDE OF \fo/ E3A‘ ,ﬁgv SS-XUDSCREWS THICKNESS BOLTS W/ 2” EMBEDMENT TEL(619)330-6043
FILTER BOX W/ 4— #12 ’ INTO CONCRETE.
S:M. SCREWS EQUALLY - (TOTAL OF 4) OVER NEOPRENE

SPACED (TOTAL OF 2)

e N y, PAD
/ - 2 . 4 A\ . ) . ] =
— Z =
3/16" < < . 4 qA 5 AMS
4 < A A4 \ <
L—3x3x1/4
DIAGONAL BRACE
(TOTAL OF 2) B 4 o
EXIST. 3—5/8” METAL STUDS EéINSg.REZT; /SiABTHICK
e i o e e (FIELD VERIFY) A\ OSHPD COMMENTS 03.25.16
A OSHPD COMMENTS 09.01.16
2
/3 DESIGN CHANGES 09.01.16
¢ A OSHPD COMMENTS 12.22.16
FILTER BOX INSIDE CLOSET SUPPORT EXHAUST FAN INSIDE CLOSET SUPPORT S I a2
SJ SCALE: 1"=1'-0" \LFJ SCALE: 1”=1'-0" /8\ _ DESIGN CHANGES 030307
A{ A DESIGN CHANGES 04.14.17 ;
L-6x3x1/4 STL. ANGLE x3" REVE T DESCRIFTION: T T T T T e
EXIST. 2-1/2” THICK sz’\’N/E M%/E %JEIL-ITlLTHLITf)B 12 e
CONCRETE SLAB L-3x3x1/4 STL. ANGLE . .
(FIELD VERIFY) EXIST. CONC. JOIST TYP. W/ 3/8"0 BOLT EA. END, TYP. SUN Structural Engineering, Inc.

Consulting Structural Engineers

2091 Las Palmas Dr. Suite D
Carlsbad, California 92011
Tel: 760—438-1188
WWWw.sunse—inc.com

A <

3/8" A307 BOLT
@ EA. HANGER, TYP.

ENGINEERING

OSHPD APPROVAL STAMP:

OSHPD #: $S152912-37-00

4”7 MIN.
YP

EXIST. CONC. JOISTS
(FIELD VERIFY)

STEEL STRAP \f 6 GA. BRACING WIRE SECURE

1" WIDE x 2" LONG x 126A. TO STEEL STRAP WITH FOUR

CALDYN CH-E/9 HANGER

4) TYPICAL W/ 3/8"¢ HILTI KB-TZ BOLT N
CONCRETE 5. TYP.
7}//@/
6 GA. BRACING WIRE SECURE AT EACH CORNER )
TO STEEL STRAP WITH FOUR TOTAL OF 4 6 GA. BRACING WIRE SECURE \
3/8" NUT WITH LOCK TIGHT TURNS WITHIN 1 1/2" EXHAUST FAN OR FILTER BOX MAX.
- WASHER TYP —_ WE|GHT 150 LBS SHEET TITLE:
| 5 DETAILS
T
O 1” »
= 3/8” ROD
o AT EACH CORNER OF FAN REN
Lo TOTAL OF 4 -
O \_//_ EXHAUST FAN OR FILTER BOX MAX. TCMC SCHIFF FAMILY NICU
WEIGHT 150 LBS RENOVATION
PROJECT #: SHEET NUMBER:
01549.01 3
PLAN VIEW Author
CHECKED BY: D
Check
FILTER BOX OR EXHAUST FAN ABOVE-CEILING SUPPORT SohE
5 As indicated
SCALE: 1"=1"-0" DATE:

11/13/15

All rights reserved. No part of this work may be reproduced or copied in any form or by any means, graphic, electronic, or mechanical, including photocopying, recording, taping, or information and retrieval systems without written permission of the ARCHITECT. 1 O O 0/ C O N S T R l ' CT I O N D O C l ' M E N TS




5-340 NICU RENO_MP_CENTRAL.rvt

PATH: R:|_PROJECT|2015|15-340 TCMC NICU Renovation| REVIT 2015|NICU|1

PRINTED 3/24/2017 3:13:18 PM

AIR FLOW ELECTRICAL SYMBOLS ABBREVIATIONS DESCRIPTIONS
TYPE | MARK MFR MODEL CFM ESP | FANRPM | MOTORHP |MOTORDUTY | VOLTAGE | PHASE | Hz |WEIGHTLBS.| OSP# |ANCHORAGE DETAIL ACCESSORIES AR CH I'T E CT S
| |
EF ] 1 | LOREN COOK [ 70CPS [ 500CFM | 050inwg | 2349 | 205 [ INVERTER DUTY ] 208 V [ 3 | 60Hz | 325 [ OSP-0102-10 | IVER | 1,2,3,4,56,7,8,98&10 3 2 5Q. RECT., OR ROUND DUCT SIZE AS NOTED 1350 Columbia Street, Suite 603
: : San Diego, CA 92101
1. PROVIDEWITHSTEELACCESSDOOR-HINGE. ] e DUCT WITH ACOUSTICAL LINER
2. PROVIDEWITHSTEELDRAIN. P: 619-299-3917
3. PROVIDE WITH OSHA BG/WC WITH ACCESS DOOR. | ! : ~£99-
4, PROVIDE WITH EXTENDED LUBE LINES. | | F: 619-299-5084
5. PROVIDE WITH BELT TENSIONER-ROTARY. % % EXISTING DUCT OR EQUIPMENT TO REMAIN www.sfeirarch.com
6. PROVIDE WITH ISOLATION BASE. . .
7. PROVIDEWITHSRS2A35SET(4)-ISOLATORS.
9. PROVIDEWITHROOF CURB. Y
10. ABB ACH550-BCR, 4.6A, 1HP VFD WITH NEMA 3R ENCLOSURE MOUNTED ADJACENT TO FAN. OSP-083-10
AIR DISTRIBUTION SCHEDULE - [CMC SCHIF]
TYPE DESCRIPTION MFR. MODEL ACCESSORIES [I o LN DFFUSER, SUPPLY F AM I LY N IC U
4x4 CE EXHAUST GRILLE, FIXED DEFLECTION, ALUMINUM KRUEGER 5810 FRAME 22 SURFACE MOUNT % ¢
6x6 CD CEILING DIFFUSER, MODULAR CORE, ALUMINUM KRUEGER 51240 FRAME 22 SURFACE MOUNT
6x6 CE EXHAUST GRILLE, FIXED DEFLECTION, ALUMINUM KRUEGER 5810 FRAME 22 SURFACE MOUNT Ml] - CR/CE CEILING REGISTER, RETURN / EXHAUST
8x6 CE EXHAUST GRILLE, FIXED DEFLECTION, ALUMINUM KRUEGER 5810 FRAME 22 SURFACE MOUNT | |
8x8 CD CEILING DIFFUSER, MODULAR CORE, ALUMINUM KRUEGER 51240 FRAME 22 SURFACE MOUNT N % % SECTION THROUGH DUCT
8x8 CE EXHAUST GRILLE, FIXED DEFLECTION, ALUMINUM KRUEGER 5810 FRAME 22 SURFACE MOUNT . . . . .
10x10 CD CEILING DIFFUSER, MODULAR CORE, ALUMINUM KRUEGER 51240 FRAME 22 SURFACE MOUNT | | TI’I-CIty Med |Ca| Center
10x10 CE EXHAUST GRILLE, FIXED DEFLECTION, ALUMINUM KRUEGER 5810 FRAME 22 SURFACE MOUNT 1 % G ] % DUCT DOWN
12x8 EG SIDE WALL EXHAUST GRILLE, ALUMINUM KRUEGER S585 HORIZONTAL BLADES 1] ,
12x8 SG SIDE WALL SUPPLY GRILLE, ALUMINUM MetalAir LBG SERIES HORIZONTAL BLADES, OPPOSED BLADE DAMPER ]
12x12 CD CEILING DIFFUSER, MODULAR CORE, ALUMINUM KRUEGER 51240 FRAME 22 SURFACE MOUNT E RECTANGULAR TO ROUND TRANSITION 4002 Vista Way
16x5 SG SIDE WALL SUPPLY GRILLE, ALUMINUM MetalAir LBG SERIES HORIZONTAL BLADES . . i
16x10 EG SIDE WALL EXHAUST GRILLE, ALUMINUM KRUEGER S585 HORIZONTAL BLADES — | OceanS|de, California 92056
16x16 CE EXHAUST GRILLE, FIXED DEFLECTION, ALUMINUM KRUEGER 5810 FRAME 22 SURFACE MOUNT f, _{ MITERED DUCT ELBOW WITH TURNING VANES
24x12 CE EXHAUST GRILLE, FIXED DEFLECTION, ALUMINUM KRUEGER 5810 FRAME 22 SURFACE MOUNT =T
24x12 EG SIDE WALL EXHAUST GRILLE, ALUMINUM KRUEGER S585 HORIZONTAL BLADES v
| | |
SFD SMOKE FIRE DAMPER WITH ACCESS DOOR
A f % OWNER: TRI-CITY MEDICAL CENTER
SUPPLY FAN SCHEDULE FILTER BOX SCHEDULE | | 3002 VISTA WAY
% % MVD MANUAL VOLUME DAMPER, LOCKING QUADRANT TYPE FOR OCEANSIDE CALIFORNIA 92056
4 , ROUND DUCT OR OPPOSED BLADE TYPE FOR RECT DUCT. TEL(760)724-8411
MANUFACTURER: LOREN COOK /\ MANUFACTURER: LOREN COOK MANUFACTURER: LOREN COOK /B\/ B\ MFR. & MODEL NO.:  CAMFIL GLIDEPACK UNITRACK SIDE ACCESS FILTER SN/ MFR. & MODEL NO.:  CAMFIL GLIDEPACK UNITRACK SIDE ACCESS FILTER ARCHITECT:  SFEIR ARGHITEGTS
HOUSING HOUSING EQUIPMENT DESIGNATION AND NUMBER
MODEL: 150-SQN-D 4/ mopEL 150-SQN-D MODEL: 150-SQN-D .t /\ 4/ \2/\ 3/ \ A / 1350 COLUMBIA STREET, SUITE 603
/B \ SIZE: 1H x 1.5W (27.25" HIGH X 34.75 WIDE X 13" DEEP) SIZE: 1H x 2W (27.25" HIGH X 46.75 WIDE X 13" DEEP) SAN DIEGO, CALIFORNIA 92101
DIMENSIONS: 23"X 23" DIMENSIONS: 23"X 23" DIMENSIONS: 23"X 23" , TEL(619)299-3917 FAX(619)299-5084
s/ FILTERS: DURAFIL-ES MERV-14 FILTERS: DURAFIL-ES MERV-14 @ TSTAT THERMOSTAT
WEIGHT: 95LBS WEIGHT: 95LBS WEIGHT: 95LBS HUMIDISTAT STRUCTURAL:  SUN STRUCTURAL ENGINEERING
OPTIONS: DIFFERENTIAL PRESSURE SWITCH WITH RED LINE OPTIONS: DIFFERENTIAL PRESSURE SWITCH WITH RED LINE ® 2091 LAS PALMAS DRIVE . SUITE D
ELECTRICAL: 460V, 30, 60 Hz ELECTRICAL: 460V, 30, 60 Hz ELECTRICAL: 460V, 30, 60 Hz SET TO MANUFACTURERS RECOMMENDATION OF SET TO MANUFACTURERS RECOMMENDATION OF DUCT DETECTOR CARLSBAD. CALIFORNIA 92011
DOUBLE THE INITIAL PRESSURE, DOUBLE THE INITIAL PRESSURE. TEL(7e0v 361 188
OPTIONS: PROVIDE WITH SPEED DRIVE OPTIONS: PROVIDE WITH SPEED DRIVE OPTIONS: PROVIDE WITH SPEED DRIVE INITIAL PRESSURE DROP = 0.27 INITIAL PRESSURE DROP = 0.27 REMOTE SENSOR (760)438-
TO CONTROL SPEED TO MATCH STATIC TO CONTROL SPEED TO MATCH STATIC TO CONTROL SPEED TO MATCH STATIC FILTER CHANGE = 0.54 FILTER CHANGE = 0.54 CEM CUBIC FEET OF AIR PER MINUTE _
PRESSURE ACROSS THE FILTER. PRESSURE ACROSS THE FILTER. PRESSURE ACROSS THE FILTER. NEVER TO EXCEED = 1.5" NEVER TO EXCEED = 1.5" ME&P: DESIGN WEST ENGINEERING
CEMS CEM SUPPLY 5151 SHOREHAM PLACE, SUITE 240
@ MANUFACTURER: LOREN COOK @ MANUFACTURER: LOREN COOK FULLY INSULATED FULLY INSULATED SAN DIEGO, CALIFORNIA 92122
GALVANIZED GALVANIZED CFMR CFM RETURN TEL(619)330-6043
MODEL: 165-SQN-D (TOP DISCHARGE) MODEL: 165-SQN-D (TOP DISCHARGE) SUPPLY FANNOTE (619)
: CFME CFM EXHAUST
NOTE: ALL PARTICULATE FILTERS SHALL COMPLY TO NOTE: ALL PARTICULATE FILTERS SHALL COMPLY TO
DIMENSIONS: 25-5/16" X 25-5/16" DIMENSIONS: 25-5/16" X 25-5/16" SUPPLY FAN SHALL BE INTERLOCKED WITH AHU-2 TO PREVENT
, . AHU FALLS OR IS SHUT DOWN FOR MAINTENANCE EFFICIENCY SHALL BE MAINTAINED THROUGH OUT EFFICIENCY SHALL BE MAINTAINED THROUGH OUT
WEIGHT. 108LBS WEIGHT. 108LBS THE ENTIRE LIFE OF THE FILTERS. THE ENTIRE LIFE OF THE FILTERS. ) NEW
ELECTRICAL: 460V, 30, 60 Hz ELECTRICAL: 460V, 30, 60 Hz NOTE: 30%10" INDICATES RECTANGULAR DUCT SIZE: WIDTH x HEIGHT
CONTRACTOR SHALL PROVIDE NEW "
OPTIONS: PROVIDE WITH SPEED DRIVE OPTIONS: PROVIDE WITH SPEED DRIVE SMOKE DETECTOR ON SF-1/AHU-2 FOR 12'g INDICATES ROUND DUCT SIZE: DIAMETER
TO CONTROL SPEED TO MATCH STATIC TO CONTROL SPEED TO MATCH STATIC UNIT SHUTDOWN. REFER TO SHEET
PRESSURE ACROSS THE FILTER. PRESSURE ACROSS THE FILTER M1.2. — POC POINT OF CONNECTION
e POD POINT OF DEMOLITION
D » »
AR BALANCE-TABL DUCT SUPPORT NOTES MECHANICAL GENERAL NOTES
Ar Balance Relstionship 3RD Floor NICU 1. SUPPORT AND BRACING FOR NEW PIPING, EXCEPT FIRE SPRINKLER PIPING, AND FOR NEW DUCTWORK SHALL BE PROVIDED PER OPM-0043-13 1. THE TOTAL INSTALLATION SHALL COMPLY WITH ANY AND ALL REQUIREMENTS OF THE LEGALLY CONSTITUTED AUTHORIT] /1\ 0SHPD COMMENTS s
. ey MASON SEISMIC RESTRAINT COMPONENTS FOR SUSPENDED UTILITIES OR OTHER APPROVED OSHPD OPM. JURISDICTION INCLUDING 2013 CBC (CALIFORNIA BUILDING CODE) AND 2013 CMC/CPC (CALIFORNIA MECHANICAL AND PLUMBING CODE). 2
Rnc.m Usage Area (%) |Cly. M () Volume | Ar C.:I'.:.');gc CFM_.HC"J CFEM Pro 8 CFM,’.“CJ FUPre | DSAMC Req;n-cd :;F“_ OSA Relatiorshipf Supply Return Exhaust | IntExt I . :c X
Nomo W) |Mewind] 8 EX EX | Roquied | opny | Proposed PosliveiN e 2. LAYOUT DRAWINGS, SHOWING THE BRACING/SUPPORT LOCATIONS AND REFERENCES TO DETAILS FROM THE RELEVANT OSHPD PRE- 2. THE CONTRACTOR SHALL VISIT THE SITE PRIOR TO BID AND SHALL THOROUGHLY FAMILIARIZE HIMSELF WITH THE EXISTING CONDITIONS /\
08 jrrokirg 5602 o 18418 8 ez | 1510 . o 2 481 1510 B 1510 . s280 | 230 15.33% A APPROVALS NEED TO BE SUBMITTED FOR USE BY THE INSPECTOR OF RECORD AND OSHPD FIELD STAFF. THE LAYOUT DRAWINGS, PREPARED UNDER WHICH HE WILL BE REQUIRED TO WORK. 2\ OSHPD COMMENTS 09.01.16
e PER ASCE 7 CHAPTER 13 AS MODIFIED BY 2013 CBC SECTIONS 1613A/1616A, SHALL BE PREPARED BY THE SUBCONTRACTOR AND SIGNED BY A
354 Nurse Statice 241 9 2169 2 72 270 72 110 ‘ 72 zra N 270 0 so0 | -220 -BE.19% STRUCTURAL ENGINEER LICENSED IN THE STATE OF CALIFORNIA. REFERENCES TO DETAILS FROM THE OSHPD PRE-APPROVAL SHALL BE FOR 3 ALL INDICATED DIMENSIONS ARE APPROXIMATE AND ARE GIVEN FOR ESTIMATE PURPOSES ONLY. BEFORE PROCEEDING WITH THE WORK /3\ DESIGN CHANGES 09.01.16
33 Clean utiity 167 s 1504 a 0 200 100 110 2 P 208 > 288 " -1 2 p— AN ENTIRE DETAIL AS SUBMITTED OR REFERENCE SHALL BE FOR EACH ASPECT OF A SUBMITTED DETAIL. CUSTOM DETAILS SHALL BE THIS CONTRACTOR SHALL CAREFULLY CHECK AND VERIFY ALL DIMENSIONS, SIZES, REQUIRED CLEARANCES AND SHALL ASSUME FULL /4\ OSHPD COMMENTS 222 ts
PROVIDED FOR SITUATIONS WHERE OSHPD PRE-APPROVALS DO NOT APPLY. AT LEAST FOUR WEEKS PRIOR TO BEGINNING INSTALLATION, RESPONSIBILITY FOR THE FITTING OF ALL EQUIPMENT AND MATERIALS HEREIN REQUIRED TO OTHER PARTS OF THE WORK OF OTHER 22
320 Tollet 29 3 261 10 44 0 0 0 0 0 0 N 0 0 & | -60 100.00% FOUR COPIES OF THE PLANS SHALL BE SUBMITTED TO THE ARCHITECT OF RECORD WHO WILL SUBMIT THEM TO THE STRUCTURAL ENGINEER TRADES. /5\ 0SHPD COMMENTS 02.22.17
T PRSERRTeIY e < prece 2 . e = > = re p e . =1 = e OF RECORD FOR REVIEW AND APPROVAL. AFTER THIS APPROVAL, THE DRAWINGS WILL BE SUBMITTED TO THE OSHPD DISTRICT STRUCTURAL
ENGINEER FOR REVIEW AND APPROVAL. THE PLANS SHALL BE COORDINATED WITH THE PLANS OF OTHER TRADES. A COPY OF THE CHOSEN 4 THE DRAWINGS ARE ESSENTIALLY DIAGRAMMATIC TO THE EXTENT THAT ALL OFFSETS, BENDS, SPECIAL FITTINGS AND LOCATIONS ARE NOT
151 Solied bl 100 9 900 4 60 200 e 0 2 200 N 200 0 20 | a0 18, 001% BRACING SYSTEM INSTALLATION GUIDE/MANUAL SHALL BE ON THE JOBSITE PRIOR TO STARTING THE INSTALLATION. EXACTLY LOCATED. ALL DUCTWORK DIMENSIONS SHOWN ON THE DRAWINGS ARE NET INSIDE DIMENSIONS. DO NOT FABRICATE DUCTWORK fEV. DESCRIPTION. OATE.
e s e E rase : : - - = : = : - : . x : —— FROM THESE DRAWINGS. THE MECHANICAL CONTRACTOR IS RESPONSIBLE FOR SUPPLYING SHOP DRAWINGS WHICH REFLECT THE
3. THE STRUCTURAL ENGINEER FOR THE CONTRACTOR SHALL DETERMINE THE APPROPRIATE SEISMIC FORCES BASED ON THE DESIGN CRITERIA PROPOSED INSTALLATION. THE SHOP DRAWINGS MUST BE APPROVED BY THE ENGINEER PRIOR TO ANY SHEET METAL FABRICATION. THE CONSULTANT
359 Fomusa Prop 125 9 1125 6 13 140 o 0 2 s 40 E 140 0 wo | o 2.00% SHOWN ON THE STRUCTURAL DRAWINGS. MECHANICAL CONTRACTOR IS RESPONSIBLE FOR PROVIDING ACCURATE AS-BUILT DRAWINGS AT THE COMPLETION OF THE PROJECT AND 5151 Shoreharm Place. Suite #240
as2 Unit § 108 “ 872 “ 47 140 a 0 2 a2 140 £ 140 0 140 0 .00 SUBMITTING THEM TO THE ENGINEER AND OWNER. San Dieoo CA 92?2CQel e
= = E = - = ' : A 4. ONCE THE EXACT LOCATIONS OF ALL PIPING AND DUCTWORK HAVE BEEN ESTABLISHED, THE STRUCTURAL ENGINEER MUST CHECK THE 90
351 Office 166 o 1494 P 0 150 100 110 2 150 o 150 ¢ 25 | 25 16.67% ADEQUACY OF THE SUPPORTING STRUCTURE TO ENSURE THAT THE ORIGINAL DESIGN IS STILL ADEQUATE. THE INSPECTOR OF RECORD 5 INTHE PREPARATION OF THESE DOCUMENTS, CERTAIN ASSUMPTIONS ARE MADE REGARDING EXISTING CONDITIONS. SOME OF THESE Phone: 619.330.6043
- , - - - - - — — . SHALL INSURE THAT ALL WORK IS PROPERLY INSTALLED PER THE APPLICABLE OSHPD PRE-APPROVAL. ASSUMPTIONS MAY NOT BE VERIFIABLE WITHOUT EXPENDING ADDITIONAL SUMS OF MONEY OR DESTROYING OTHERWISE ADEQUATE OR Fax: 909.890.3770
e Welling S0 9 1080 " 180 180 2 o 2 % 180 N 180 o 05 | -2s 13.50% SERVICEABLE PORTIONS OF EXISTING BUILDINGS AND/OR EQUIPMENT. THEREFORE, THE ENGINEER SHALL NOT BE HELD RESPONSIBLE FOR email info@designwesteng.com
Tollet 29 4 261 10 ¢ 0 a 10 0 b 0 N 3 o %0 50 100.00% 5. WORK EXEMPT FROM CONSTRUCTION DOCUMENTS REVIEW BY THE CBC 2013 SECTION 105.2 OR ASCE 7 SECTION 13.1.4 NEED NOT BE ANY CHANGES OR ADDITIONAL COSTS INCURRED DUE TO EXISTING CONDITIONS. : :
, , , : - - - - DETAILED ON THE CONSTRUCTION DOCUMENTS. EXEMPTIONS FROM CONSTRUCTION DOCUMENTS REVIEW REQUIREMENTS OF THE CODE
350 [Female Plublc Toied €0 9 540 2 18 65 - o5 2 8 65 N 65 0 0w | 38 -53.85% SHALL NOT BE DEEMED TO GRANT AUTHORIZATION FOR ANY WORK TO BE DONE IN ANY MANNER IN VIOLATION OF THE PROVISIONS OF THIS 6. THE CONTRACTOR SHALL COMPLY WITH ALL CONTRACT DOCUMENTS IN LAYING OUT HIS WORK AND EQUIPMENT, HE SHALL COORDINATE
i i zr - = 2 - = e : = m s . = e CODE OR ANY OTHER LAWS OR ORDINANCES OF THIS JURISDICTION. THE INSPECTOR OF RECORD (IOR) SHALL ASSURE THAT THE ABOVE THE WORK OF THIS SECTION WITH THE WORK OF OTHER TRADES AND ALL JOB CONDITIONS. DESIGN WEST ENGINEERING
REQUIREMENTS ARE ENFORCED. MECHANICAL = ELECTRICAL = ENERGY CONSULTANTS
158 Equi storage &8 9 522 2 17 75 9 o 2 7 75 € 75 0 7 ¢ 0.00% 7. THEINSTALLATION OF ACCESS PANELS OR OTHER INDICATING EQUIPMENT OR SPECIALTIES REQUIRING READING, ADJUSTMENT, INSPECTION,
— — ” - ™ 5 " " - - - - . o . - o 6. THE INTENT OF THE CONSTRUCTION DOCUMENTS IS TO RECONSTRUCT THE BUILDING IN ACCORDANCE WITH THE CBSC 2013. SHOULD ANY REPAIRS, REMOVAL OR REPLACEMENT SHALL BE CONVENIENTLY LOCATED WITH REFERENCE TO THE FINISHED BUILDING. OSHPD APPROVAL STAMP:
S Eape : . . . . . s ’ s . . . ’ i CONDITION DEVELOP NOT COVERED BY THE CONSTRUCTION DOCUMENTS WHEREIN THE FINISHED WORK WILL NOT COMPLY WITH THE CBSC OSHPD: # $152913-37-00
u7 Saish pre " 414 5 41 50 0 a0 2 " % . 50 0 50 ; T 2013, A CHANGE ORDER DETAILING AND SPECIFYING THE REQUIRED WORK SHALL BE SUBMITTED TO AND APPROVED BY OSHPD BEFORE 8 WHERE MATERIAL IS SHOWN ON THE DRAWINGS BUT NOT SPECIFIED, IT SHALL BE OF THE SAME TYPE AND QUALITY AS EXISTING MATERIAL.
PROCEEDING WITH THE WORK.
385 | Male Pudic Tatet | 58 a 522 10 81 5 0 &0 0 0 % N 50 0 s | s 50.00% 9. PROVIDE MANUAL VOLUME DAMPERS AT UPSTREAM PORTION OF ALL TERMINAL AIR BRANCHES. THESE SHALL BE OF THE LOCKING
= = = = — = s = = - 2 " " 75 0 P 2 33.33% QUADRANT TYPE. WHERE LOCATED OVER SLOPED OR HARD CEILINGS, PROVIDE DURO-DYNE ANGLE GEAR DRIVE OR BOWDEN CABLE
| S O L AT I O N R O O M C O N -|- R O L SY ST E M CONTROL SYSTEM OR PROVIDE UNITED ENERTECH POWER/BALANCE SYSTEM. REMOTE PLATE LOCATIONS TO BE LOCATED AS DETERMINED
KLY Tcilat 24 4 216 10 34 0 0 &0 0 0 0 P 0 0 140 150 A D0.00% BY ARCHITECT..
353 Locker 103 9 227 2 31 150 0 80 2 L) 150 P 150 0 0 150 100,005
10 INSULATION THICKNESS FOR ENERGY PERFORMANCE SHALL BE BASED ON TITLE 24 ENERGY CODE AND REGULATIONS OR UNLESS
358 Comrdor 753 o 7047 2 235 460 0 0 2 235 480 = 450 0 480 0 0.00% MFR. & MODEL: TSI ISOLATION ROOM CONTROL WITH ANTE ROOM MONITOR. OTHERWISE STATED ON FLOOR PLANS.
o — od : e . o e t . g - e : b : ol B s DEVICES: SUPPLY FLOW SENSOR, (2) THRU THE WALL SENSORS, EXHAUST FLOW SENSORS 11, WHERE NOT SPECIFICALLY INDICATED OTHERWISE, ALL DUCTWORK AND EQUIPMENT SHALL BE SUPPORTED PER THE SMACNA GUIDELINES
136 1-8ed 152 9 1368 137 175 o a0 2 46 175 P 178 o ws | se 17.94% TOUCHSCREEN INTEREACE. FOR SEISMIC RESTRAINT AND CURRENT APPLICABLE UNIFORM MECHANICAL CODE.
335 1-8ed 149 a 1341 ) 134 175 0 a0 2 45 175 P 175 0 145 30 17.44% CONTROL OPTION: CONTROL EXHAUST FLOW SEQUENCE OF OPERATION. 12. WHEN A FIRE ALARM SYSTEM WITH FULL COVERAGE SMOKE DETECTORS ARE PROV/DED, DUCT SMOKE DETECTORS MAY BE ELIMINATED.
an 1.8ed 163 3 1467 s 147 175 P 80 2 49 175 B 175 0 ws | 30 17.94% FIRE ALARM CONTRACTOR SHALL WIRE SMOKE/FIRE DAMPER ACTIVATORS TO AREA SMOKE DETECTORS,
333 1-8ed 161 3 1449 L 145 175 ) 2 a8 175 P 175 v s | 30 17.14% 13, TESTING, ADJUSTING, AND BALANCING (TAB) OF THE AIR CONDITIONING SYSTEMS AND RELATED ANCILLARY EQUIPMENT WILL BE PERFORMED
e s i - G s e iz = == - o e a — : Gl 2 PRy AN C H O RAG E AN D B RAC I N G N OT E S BY A CERTIFIED, INDEPENDENT THIRD PARTY, AABC AGENCY PROCURED BY THE MECHANICAL CONTRACTOR. A COMPLETE AIR BALANCE SHEET TITLE:
REPORT TO BE SUBMITTED TO THE ADMINISTRATIVE AUTHORITY AND TO THE MECHANICAL ENGINEER AND APPROVED PRIOR TO FINAL
331 1-8a 162 9 1458 Y 146 175 0 80 2 49 175 24 17% 0 45 30 17, 14% PAYMENT
. = e - - - - - - - - - - — = M S 14, DUCT SYSTEMS USED WITH BLOWER TYPE EQUIPMENT WHICH ARE PORTIONS ON THE HEATING, COOLING, ABSORPTION, EVAPORATIVE ME C HANI CAL LE G END ’
329 1-Bed 165 2 1494 6 149 175 2 a0 2 175 - 175 o s | 17.94% PIPES, DUCTS AND CONDUITS SHALL BE SUPPORTED AND BRACED PER MASON OPM-0043-13, B-INE/TOLCO OPM-0052-13, " COOLING OR OUTDOOR AIR VENTILATION SYSTEM SHALL BE SIZED IN ACCORDANCE WITH CHAPTER 17 OF THE CALIEORNIA MECHANICAL N OT E S & S C H E D U |_ ES
A28 1-8ed 165 9 1454 6 188 175 g B0 2 80 175 - 1745 0 145 30 15,14 A CODE.
327 tsolason Room | 197 ? 1773 12 355 350 0 a0 2 50 N 30 0 s00 | -140 -38.89% 15, UNLESS OTHERWISE STATED, MAXIMUM LENGTH FOR FLEXIBLE DUCTWORK SHALL NOT EXCEED SEVEN FEET (7-0"). ALUMINUM FLEX
e P~ = 2 = 3 = 55 A = z oo % = 7= y 3 = TR M E C H AN | C AL S H E ET | N D EX DUCTWORK WILL NOT BE ALLOWED ON ANY PORTION OF THE DUCTWORK SYSTEM.
PROJECT TITLE:
339 Comidor a0 9 8100 a 540 540 9 80 2 270 540 N 540 ¢ 800 | -260 4B.15% 16, ANY SUBSTITUTION MADE BY THE CONTRACTOR THAT IS DIFFERENT FROM WHAT IS SPECIFIED ON THE DRAWINGS SHALL BE CLEARLY
== — e . - = - = . = = - - - = — INDICATED ON THE SUBMITTAL AS TO ALL THAT IS BEING SUBSTITUTED. TCMC SCHIFF FAMILY NICU RENOVATION
. . " s » n 2 ke n n / adl BN : Sheet # Sheet Name
341 Famusa Prep a4 3 B4 6 85 100 a 20 2 28 100 P 100 o 100 0 0.00%% 17. DURING CONSTRUCTION, ALL DUCT AND OTHER AIR DISTRIBUTION COMPONENT OPENINGS SHALL BE COVERED WITH TAPE, PLASTIC OR PROJECT #: SHEET NUMBER:
%3 Claan Uity %00 ° e s S 78 o %0 * P 78 = 78 o 150 28 ey MO.1 MECHANICAL LEGEND, NOTES & SCHEDULES OTHER ACCEPTABLE MATERIAL TO REDUCE THE AMOUNT OF DUST OR DEBRIS WHICH MAY COLLECT IN THE SYSTEM. 01549.00
DRAWN BY:
340 Nurse Station 100 3 900 4 60 100 o a0 2 30 100 P 100 0 o | 100 100,00% M11 |MECHANICAL DEMOLITION PLAN 18, PER ASHRAE 90.1 SECTION 6.4.4.2.1, DUCTWORK AND ALL PLENUMS WITH PRESSURE CLASS RATINGS SHALL BE CONSTRUCTED TO SEAL Author
— - - - - - —_ M1.2 |MECHANICAL EXISTING EQUIPMENT PLAN CLASS A. AT A MINIMUM, ASHRAE 90.1 PRESCRIPTIVE REQUIREMENTS ARE REQUIRED PER GSA P-100 (2014) SECTIONS 1.4.5, 1.8.1 AND TABLE CHECKED BY:
338 1-Bad 138 9 1247 () 124 135 0 g0 ? 4 135 P 135 0 119 25 18.57% M13 MECHAN'CAL DEMOL'T'ON ROOF PLAN 54 FOR MAJOR BUILDING ALTERAT/ONS Checker
44 Janitor 28 4 262 12 10 0 a 20 0 0 0 N ) 0 % L% M2.1 MECHANICAL REMODEL FLOOR PLAN jCAI:lEi ]
7764 5506 7415 465 3040 72 2279 7415 0 7415 0 7415 0 M2.2 |MECHANICAL ROOF PLAN DATE:
M3.1 MECHANICAL DETAILS . 11/13/15 15-340

All rights reserved. No part of this work may be reproduced or copied in any form or by any means, graphic, electronic, or mechanical, including photocopying, recording, taping, or information and retrieval systems without written permission of the ARCHITECT. 1 O O o/ C O N ST R l ' CT I O N D R n W I N G S




GENERAL NOTES S F E | R

1. THE TOTAL INSTALLATION SHALL COMPLY WITH ANY AND ALL REQUIREMENTS OF
THE LEGALLY CONSTITUTED AUTHORITIES HAVING JURISDICTION INCLUDING 2013 A R E H I T E C T S
CBC (CALIFORNIA BUILDING CODE) AND 2013 CMC/CPC (CALIFORNIA MECHANICAL
AND PLUMBING CODE).

2. THE CONTRACTOR SHALL VISIT THE SITE PRIOR TO BID AND SHALL THOROUGHLY 1350 Columbia Street, Suite 603
FAMILIARIZE HIMSELF WITH THE EXISTING CONDITIONS UNDER WHICH HE WILL BE San Diego, CA 92101
REQUIRED TO WORK.

3. IN THE PREPARATION OF THESE DOCUMENTS, CERTAIN ASSUMPTIONS ARE MADE P:619-299-3917
REGARDING EXISTING CONDITIONS. SOME OF THESE ASSUMPTIONS MAY NOT BE F:619-299-5084
VERIFIABLE WITHOUT EXPENDING ADDITIONAL SUMS OF MONEY OR DESTROYING www.sfeirarch.com
OTHERWISE ADEQUATE OR SERVICEABLE PORTIONS OF EXISTING BUILDINGS
AND/OR EQUIPMENT. THEREFORE, THE ENGINEER SHALL NOT BE HELD
RESPONSIBLE FOR ANY CHANGES OR ADDITIONAL COSTS INCURRED DUE TO

EXISTING CONDITIONS.
B C D - : :
4, THE CONTRACTOR SHALL COMPLY WITH ALL CONTRACT DOCUMENTS IN LAYING T M I I I F F

OUT HIS WORK AND EQUIPMENT. HE SHALL COORDINATE THE WORK OF THIS
SECTION WITH THE WORK OF OTHER TRADES AND ALL JOB CONDITIONS.

| | | | | | 5. DURING CONSTRUCTION, ALL DUCT AND OTHER AIR DISTRIBUTION COMPONENT
OPENINGS SHALL BE COVERED WITH TAPE, PLASTIC OR OTHER ACCEPTABLE

MATERIAL TO REDUCE THE AMOUNT OF DUST OR DEBRIS WHICH MAY COLLECT IN

CEILING SHALL NOT BE USED AS A PLENUM.

T T THE SYSTEM.
— _ ] 5 75 r _ _ 78 6. ALL RETURN & EXHAUST AIR SHALL BE DUCTED. COORIDOR OR SPACE ABOVE THE I 2 I N OVA I IO N
| — il il il T i = il T il il i = il il il — —I' .

it bt et Je 7. ALL AIR DISTRIBUTION DEVICES & GRILLES TO BE REMOVED & REPLACED WITH
PATIEN PATIERS P4 PATIERTIBAY PATIENTIBAY DEVICE OF SAME SIZE PER AIR DISTRIBUTION SCHEDULE ON SHEET M0.1.

T I A I U Tri-City Medical Center

4002 Vista Way

_ i} _ @ Oceanside, California 92056

CORRIDOR
364

STORAGE-SUPPLY
263

OFFICE
|351

| | EXHAUST FAN RISER A
DOWN FROM EXHAUST
FAN ON ROOF.

OWNER: TRI-CITY MEDICAL CENTER
4002 VISTA WAY

/ OCEANSIDE CALIFORNIA 92056

TEL(760)724-8411

\

T

<
&
3

T 1L T

NURSE STATION [

[VEsT. ARCHITECT:  SFEIR ARCHITECTS
3o1A 1350 COLUMBIA STREET, SUITE 603
SAN DIEGO, CALIFORNIA 92101
| I TEL(619)299-3917 FAX(619)299-5084

BLOOD GAS
TRE T ENT S-10 RISER DOWN 952
F

|

CONF. ROO CORRIDOR

— — — WAITING
| = @ — CORRIDOR |349 STRUCTURAL:  SUN STRUCTURAL ENGINEERING
348 2091 LAS PALMAS DRIVE , SUITE D
CARLSBAD, CALIFORNIA 92011
TEL(760)438-1188

]

—

7

— @ ME&P: DESIGN WEST ENGINEERING

5151 SHOREHAM PLACE, SUITE 240
SAN DIEGO, CALIFORNIA 92122
TEL(619)330-6043

(E) 8x8 — c“o
150 CFM 7CORRIDOR o ED AR
1 356 $6 c O&/
(E) 18x18'| | | (E) 2418 ’, V@‘OQ W N R
[~ //é)(/ \\ A ki
o] I -
ST DEMOLITION NOTES x| “.\ H
~ — I -
_ [[".'| — @ REMOVE EXISTING DUCTWORK AND GRILLE AND CAP. PREPARE FOR FUTURE X @\%N PR
CONNECTION OF NEW DUCTWORK. KEEP WORK OUT FROM ABOVE CORRIDOR HARD- & 13 ~
,,I LID AREA. JE OF cAXS
| (B) 10x10 T
200 CFM @ @ EXISTING DUCTWORK TO REMAIN.
@ EXISTING AIR DISTRIBUTION DEVICES TO BE REMOVED & REPLACED WITH DEVICE OF /1\ OSHPD COMMENTS 03.25.16
: EQUAL SIZE. SEE REMODEL PLAN, SHEET M2.1. RECONNECT ALL (E) FD'S & FSD'S TO
| NEW GRILLES, WHEN APPLICABLE.
(E) 16x5 —1 | ) "/ CORRIDOR T A /2\ OSHPD COMMENTS 09.01.16
335 CFM . 339A <‘> (E) 14x6 SIDEWALL GRILLE TO BE REPLACED WITH NEW GRILLE OF SAME SIZE.
£) 86— - (E) 8x8 £110x10 | ‘ (E) 10x10 || T _ /3\ DESIGN CHANGES 09.01.16
(E) 8x 100 CFM | | (E) 10x ICTATION 225 CEM ! <5> (E) 6x6 EXHAUST GRILLE TO BE REMOVED & REPLACED WITH NEW GRILLE OF SAME
75 CFM # 180 CFM ‘ 341 A 254 I 4 OSHPD COMMENTS 12.22.16
I NURSE STATION : SIZE.
Co§ggOR ] K 340 | [ /‘S\ OSHPD COMMENTS 02.22.17
sED iR [T @ EXISTING DUCTWORK TO BE REMOVED. PROVIDE CLEAR & OPERABLE AREA FOR —
336 — S ‘ = INSTALL OF NEW HEADWALL. /7\  DESIGN CHANGES 4142017
A (E) 8x8 [— I (E) 24x(2 ‘
(E) 16x5 — i — B2 \ / . . ‘
195 CEM 140 CFM 700 CFM Ll ey o o6 <7> (E) CAV BOX NO. § TO BE RELOCATED. SEE REMODEL SHEET M2.1. REVISE (E) HW REV:  DESCRPTION: DATE:
[ K [I \k i [ s B PIPE TRAIN. CONSULTANT
(E) 86 —T]| i L ) 75 CFM
7(‘2 )C1F GMX . - ST (E) 1246 DUCT TO BE REMOVED. gg}i 1 Dsiggshgxﬁg%%e, Suite #240
330CFM | - 5 I 2 Z <3 (B) 7' DUCT TO BE REMOVED. Phone: 619.330.6043
— Fax: 909.890.3770
_H qgj='z H r g:;)of g;k? (E) 12x12 CORRIDOR (E) 10x10 @ EXISTING SUPPLY GRILLE TO BE REMOVED & RELOCATED. SEE REMODEL PLAN, - .
| [ — — | s . |f 275 CFM ] H3 B I LP 270 CFMH 4 | SHEET M2.1. email: info@designwesteng.com
S e it o5 [ i | A | e e R e PR
j I () 1665 @ EXISTING RESTROOM EXHAUST TO BE REMOVED.
fgoe - R o || e oo DESIGN WEST ENGINEERING
:&‘ & | 100 CEM 100 CEM 00 CEM \ MECHANICAL « ELECTRICAL * ENERGY CONSULTANTS
11— — \CTEED A |
| [1 334 |‘ T | | OSHPD APPROVAL STAMP:
(E) 8x8 —_ | () een N e OSHPD: # S$152913-37-00
100 CFM "~ f 331 EI ? \
| L AN
I*@ .\;:r 7@_7 L} | A

CONSTRUCTION NOTES

e — _— — [ == — ]

5-340 NICU RENO_MP_CENTRAL.rvt

L (E) 16x5 (E) 16x5 (E) 16x5 (E) 16x5 (E) 16x5 (E) 1645 J
{ | @ PROVIDE PRE AND POST CONSTRUCTION TRANSVERSE READING IN THE DUCT

120 CFM 120 CFM 150 CFM 160 CFM 115 CFM 125 CFM

| AT POINT INDICATED TO VERIFY THAT THERE WAS NO CHANGE TO EXISTING
(E) 8x6 (E) 8x6 (E) 8x6 FACILITIES AIR BALANCE OUTSIDE THE REMODEL AREA DUE TO THE
75 CFM 75 CFM 75 CFM MODIFICATIONS MADE WITHIN SCOPE OF THIS PROJECT. AT THE PROJECT
CLOSE PROVIDE AIR BALANCE REPORT LISTING BOTH THE PRE AND POST
CONSTRUCTION READINGS FOR APPROVAL

SHEET TITLE:

MECHANICAL
OO () O & © DEMOLITION PLAN

PROJECT TITLE:

TCMC SCHIFF FAMILY NICU RENOVATION

PROJECT #: SHEET NUMBER:
01549.00

DRAWN BY:

Author

CHECKED BY:

Checker

SCALE: n

PATH: R:|_PROJECT|2015|15-340 TCMC NICU Renovation| REVIT 2015|NICU|1

PRINTED 3/24/2017 3:13:21 PM

1/8" = 10"

n_ 4 n DATE:
MECHANICAL DEMOLITION PLAN g =1-0" | 1 isis 15340
All rights reserved. No part of this work may be reproduced or copied in any form or by any means, graphic, electronic, or mechanical, including photocopying, recording, taping, or information and retrieval systems without written permission of the ARCHITECT. 1 O O 0/
o CONSTRUCTION DRAWINGS




7 Q THIS PLAN PAGE IS MEANT FOR S F E | R
A : | - ~aUpPPLY FAM 5CHEDULE B THIS ENTIRE MECHANICAL SYSTEM IS BEING - | REFERENCE AND/OR
e fLacaToN [T | DRIVE am =P | auWT \/maw %mmg%m T reeee REFEREDTOAS A2 COORDINATION PURPOSES ONLY. ARCHITETCT S
S- Blow | %1185 | A" - . - | ALL DRAWINGS ON THIS SHEET
“ ~ QE?ZE L | VPO Lo | P ' e Jco | Tee s1 bl e T L || WERE PROVIDED TO DESIGN WEST| | {350 Columbia Stect, Suie 603
f"ét‘z\ RM &T“ THRU | V-PELT *&055 1% - 2570 FPM ~39 | HC-2 | cc-7 TKAME NO. 12 DRAW-THRD UNIT NOTE®I. o sl g é T . ! o E BY TRI-CITY MEDICAL FACILITY San Diego, CA 92101
1 - T T T e ;, e fzcn ngu; VB - V : P: 619-299-3917
S SV /A F: 619-299-5084
( www.sfeirarch.com

FAH TO DelLIVBR 17785 CFM A rrzas&rl oD CFM TOTAL U e S T T e
* FAN _ TO DELIVER 1665 CFM AT Plzgsau'r éoeeTci'—M TOTAL :ZMmmee. "J fFomge. 29

_NOTES T W“UWT$“’ALL BE HGH PRESSURE PRAN- -THRY.  BACKWARD INCLINED mpg CLASS T~ REINFORGE ALL BEAR) Wi E.
~IRON"SUPPORTS. 10 Mee 5. PROVIOE APPROPRIATE SHEAVES, PULLEYS &5 INLET mmma% R- Fo DEMRINGS WITH "“(“L

TCMC SCHIFF

o | AU AN SCHEDULE . | . 12-2 4224 o i . o, =72
o It S - “prerrens | I : FAMILY NICU
[Wa [Locanod [ e [Wiem-oaM [ peve [oPu] o] shuer oo [ W22 T poMpees- | | LT - T ‘Zﬂfﬁm
EF-1| Roo ABINET| 1- 269 _BELT [OMB| | | - PM - . NO. E. LESS COILS. AIRFOIL FAM. e o B T 1 N S Rkl O O
EF ROOF  |CABINET| |- 26'% V_E T{egsm| | 1540 FPM, | lO, HBOV-24 | TRAME NO. 50 CABINET UNIT, LESS COILS. AIRFalL FAM. s Az — J S i _ o REN VATI N
. — - | ER == O
B — S ] / FUTURE FAN UNIT I-Ci '
— R LTS5 o FF;Z A i | Tri-City Medical Center
¢ W% —— , |4 eAsEM |
A AU A RIS RS RN NN SRR W S | o . N i ST » ——i 18200 ¢ CFM @ 224 |
1 - SR T L | &P 22 HP Mook, | 4002 Vista Way
FAN TO DELIVER m45 CHAAT PRESEMT, zssao CFM TOTAL IN FUTVRE . UNIT SHALL BE WEATHER £ - ; =P S s e S B C | Oceanside, California 92056
& ERTIER 112 L ‘ FUT SE p't THER:PRODFED. FOR OUTDODR [NSTALLATION 3 I e R S S
A | , . . W_HZATH\IQ I e - * U T },’? J ¥ R R : |
“n ‘\OFM W e N »«TEIN Ho‘; v UEANMING L - peMARE®- — | ‘ \ _:{,____: ' ‘—Jef”; T-n J\ OWNER: Igé-zc\l/TlnglEv/;;TYHCARE DISTRICT
(Pl flond 52 o0 [ 2 | [ oon Waarees oW EFEes A See=m ol S ] 2 | ———— S o
]:ﬁ-ﬁ‘ 6oes | 147 | sgO. | 2. T | ’ R Nf 2" GRISWOLD  FLOW CONTROL VALVE. ¢ — R s i T Y ~—FXISTWATER PRV, ARCHITECT:  SFEIR ARCHITECTS
| : — Tt n e e I f—tister=]—d | e T ~ 1350 COLUMBIA STREET, SUITE 603
50 NN DU CR E T % WITH QHQADER vV, et vl Ry i o /LM4~§K§(ER ﬁfém SAN DIEGO, CALIFORNIA 92101
- ————— - e e—p— : { R ,“’::’1” ot td 1 RE F‘ZI W AR DRYER.= @ H? : TEL(619)299-3917 FAX(619)299-5084
= - - — ‘ B E — '))/ ' S ’l £ - T //,.Zw;;p( L AIR. COMPRESSOR, STRUCTURAL:  SUN STRUCTURAL ENGINEERING
= o I, 0 . , - e S 2091 LAS PALMAS DRIVE , SUITE D
e R Gﬁ&biﬁé v o | R % ’ CONTRACfbé SH‘AI>_VL F;ROVIDE v 3 b Z r[* ’VT ‘E’GSCI?M * FD $2F($§§)3§é3%:3FORNlA92011
TR : ['EACE VL. | ¥ . | EN ANE T ; ,  NEW SMOKE DETECTOR -7 g TP o
6‘2“;?5&7" T T R g‘;“g;‘\ig B IWE T o6 T we T a7 ZQMABKQ“' S e ( LOCATED IN SUPPLY DUCT FOR N i P memml' FRMEL ME&F: DESIGN WEST ENGINEERING
200 5 T | PPV ~ — 1= _ 1+ UNIT SHUT DOWN APON “z.t.,,:f“z"mmmw DIFF PRES. VALVE . S Ay S1TE 240
‘ 25 ; 9 88" | 71° 1 65.8°| 4.6 | 45 55‘ ez colL WITH 4' QBI‘EWOM? F‘LQW mt.h‘gav VALVE % \_ ACTIVATION SAN DIEGO, OAL
M7 | B0 ] 6 | 8&] TI° | 48.0°1 455 4955’94 CColl WITH a*am&mm FLOow . cwmos. VALVE %

CET PANEL.

A&qﬂ 24 CcD UF .
7% -74 H P UP

R , o _::%g‘éw mg;__. : i \ﬁl 1RE-DAMPER . Ng33209
JUNIT N, I'5TEAM PRESS|STEAM. LB JHR “T-OKIF .} OTEAM SETRPPHL 7 ; KWAQK@:. ‘ - — - EXP. 9-30-2017
Thor | eorr | 95 | % | [ ARMSTRONG AA-31D-1 RSTALLATION METHOD No.3 | @ - : | MecHAMAICAVL/ EQUIE_EM.
T. . R S - : S o SCALE: l4'=|-O"
fHU-Z| e0Ps | %24 Yoo | ARMSTRONG: AM-32D-M INSTALLATION METHOD MO.% ""'“?{um - aiﬂ PrETH ——
,, — e - e —DucTS To REMMNT o i
 RU- { T ol g 1 RO A~ HiD - . "TONL ) HOD NO. 2 NO OSHPD COMMENTS 03.25.16
Ho-3 6o s 9 "é‘,’ ARMGTRO“G‘, AM-21D-M INSTALLATION METHOD NO.% Dﬂca‘fz N -_2ZHe. 5}1‘AF ‘%Ten NO.F-1 - CAMBRIDGE ELECTRO-MOLD EF95 -6- -60 ELECTRONIC AR N
R ‘ — — T — i . | | CLEANER WitW A&ROM@LMQ FILTERS, 9-24rzd  REQURED.. 115V~ 4.
: .,M.‘ AR ‘F‘LI& :'N ]SH"AF-T e . .,v : ’ : : | Z %F'LTER NO F 2 CAMbR[ DGE ELEC,TRO -MOLD EFQE 4 40 ELEOTRON(C A[R /2\ OSHPD COMMENTS 09.01.16
) : o LINFROM . BA MEN ' . ' ; CLEANER WITH KEKQM,GLD 9D "FLTERS, 4-24x24" REQUIRED. [I5V-i¢, /3\ DESIGN CHANGES 09.01.16
PUMP 2zHEDULE | | R m& -TO~ZMD" ﬁ,g SLAB. 3 %IN"APPROVED MFGRY FRAMES. NOTE POSITIONS OF A.D, FOR, FILTER REMOV. N
* oz * ‘ B —
m‘rjh 622\/'&? ngl/ ; 6[)6“0“ DI@OHAZ&,E QPM 1. HZAD %ﬁ H'— CUKMT » ZFM . 7 Z?MAF'_—Q&*. N o ‘4‘ HL Sosto oL L A‘) - ;"E‘;' . - /'SA\ OSHPD COMMENTS 02.22.17
W ‘ . A — ‘ - v » — ‘ ‘ 7 7 ' . \ — EXPOSED I A g 3 co DESIGN CHANGES 14,
IP-1 28 wrepmp| 2K 8! % 2 M7 | 42 | ¢27:| B |480VE| 1750 | WEINMAN W[ MECH. SEAL 4 FLEX. COUPLING, » f e “ARMAELEY. AS HEREN DU RS S AEL‘?’L&L&?ST&& ”;g’;‘um _ | e
: T ~ A BN Ba— —— — — — L , ™~ __m" “FOR_NEW PIPES. PLUG  ALL UNUSED HOLES INFLOORS A$ REGUIRED, REV: DESCRIPTION DATE:
5151 Shorehom Place, Suite #240
ALL_DICTHORK ATDVE: ROOF S Phone: 15320043
— : - , R o }f 0?; :» éug:; ;HRU . [(Sﬂ jNSuLA‘TEQ O 0.8, B COVERED W/ 1 Fof:n9eod9.89b.37%o
» ' : ‘ . - - ¢ i 2 AGUALL {RAME WATERTIGHT email: info@designwesteng.com
o , : THIS IS THE PORTION THAT SERVES OUR AREA OF CfLhoA Tre GoAGL A = PIPES DA THRU ROOF | info@designwestens.
, WORK. NO SCHEDULE IS AVAILABLE FOR THIS i , , e EXFQSED PIPE, COVER
@) @) @ ONIT, W Gk D= = 7l erioers aiom- DESIGN WEST ENGINEERING
TH'RU ROOF L Pl " f Vg0 ~ / NuMiY AG%-E,TR MECHANICAL » ELECTRICAL = ENERGY CONSULTANTS
: g - o 5960 4 V4 70U ¥ B NS Ch Td’ OSHPD APPROVAL STAMP:
‘ ' n%N»nghéﬂ‘g;’, | G-_we__u.. _/ / 20:71.’& Ol C&»m@ OSHPD: # $152912-37-00
- SIS - -1 U S LS R A OC,TA'}L
s . | g \ \ &ummggws Z 11 /-%fgw ;&wzzﬁ To.
§ E’%‘l"‘b"f“i’bfgp‘mTﬁfx ‘ R S el HE -t ]
% ) ' %ﬁmx Eximuat ot 264 oy s Wl L
3 | S’UP“F.B . WHEE L REPLACE DRIVE \ Ty 0 $ 90, e~ R
E | | WW U‘; N\ sHERvE. AS REQD TO - s T pAEL
3 o \bauvm 24750 ¢ Sy
N ) = =} — ; P — y ‘ 1 e
J FIREDAMPERS, EA. vt 1] | - MHiGreo Hen, TN —~ o S QO—F5 OF4 et . E L E
S STATIL: 5GXI% H.D KNE clenlee ) PRoVITE HW“\)/ Y *41‘-1-'23“/ Nalran o
L ) (FRYd’ o ;7 P ; DY j - - | i
§ 2427 HD—TT] - MMPE%? N 7 SUP FA“ S-| , +— _ACQE@% Dook \é i/,f \"*E'\I / i 7 t VI iI, bl
< . . - . / H”ﬁl&&g N N \ ! R | : (o
§ Jic. \ \@04 AL ' o /fi_ oo = ) Jﬁ P! : ' ] SHEET TITLE:
L1'3 7 /// . oL ',’/ ol e | N ; | : : g smtlpomeeeceir] .
B o ' 15T 64434%«/ A I N e i
? m o 5" _ Ao s rosor - e N MECHANICAL EXISTING
S | || = FAl Lodver e erienn. ) A OF FAN INTAKE ACCE - . al Sy B >N |
g o ™ 2w S ggﬁ;ée:vsmcggs R fetommeer N m e <7 w EQUIPMENT PLAN
O J s ENERG y p ‘ g . 5 . ;
3 L | NEW SUP. FAN S-10 / 24% S0P AIR-ON. —L— | (e \ - .
¢ / SR EE T | SMOKE DETECTOR- _-gmiéggf CURE- CIRCUIT MCC-8 | Sz e
33 ' O DE-ENERGIZE | F A B ARIZXIZ 5‘7" |
30 Toa _MA & Jeore. pAD / NEW SUR_FAWL Sl : L SeRr Teie g?%iﬁig% j TCMC SCHIFF FAMILY NICU RENOVATION
% § K SBOTIOM A A & ' : , " \‘*554’ Ean ‘,:"\“ }« 55& gA DM j, 5 ‘Zé)( 12xZ 15’79 . BF;C’JSJ:;TSO SHEET NUMBER:
54 iy N N ezt e M 1 2
EC HTETY e : S,flng: 0 ||
E i "= 1"
EXISTING EQUIPMENT SCHEDULE & FLOORPLAN | NT.s. 1| it e

All rights reserved. No part of this work may be reproduced or copied in any form or by any means, graphic, electronic, or mechanical, including photocopying, recording, taping, or information and retrieval systems without written permission of the ARCHITECT. 1 O O ()/ C O N S T Rl | CT I O N D RAW I N G S




GENERAL NOTES S F E | R

AR CH I T E C T S

1350 Columbia Street, Suite 603
San Diego, CA 92101

P: 619-299-3917
F: 619-299-5084
www.sfeirarch.com

ONENO © © OO TCMC SCHIFF
| ' | ' | | FAMILY NICU

B | R N Y | I S RENOVATION

Tri-City Medical Center

4002 Vista Way

| | @ Oceanside, California 92056

T — - — - - - - - - - L — - - -
T f
OWNER: TRI-CITY MEDICAL CENTER
4002 VISTA WAY
OCEANSIDE CALIFORNIA 92056
(E) AIR HANDLER UNIT.| TEL(760)724-8411

(S-10 SUPPLY FAN)

ARCHITECT:  SFEIR ARCHITECTS
1350 COLUMBIA STREET, SUITE 603
SAN DIEGO, CALIFORNIA 92101
TEL(619)299-3917 FAX(619)299-5084

STRUCTURAL:  SUN STRUCTURAL ENGINEERING
2091 LAS PALMAS DRIVE , SUITE D
CARLSBAD, CALIFORNIA 92011
TEL(760)438-1188

— — - - + @ ME&P: DESIGN WEST ENGINEERING

5151 SHOREHAM PLACE, SUITE 240
SAN DIEGO, CALIFORNIA 92122
TEL(619)330-6043

1]
N
}4

DEMOLITION NOTES

(E) ROUND DUCT DROPS TO SERVE FLOOR BELOW TO REMAIN.
(E) RECTANGULAR BALANCING DAMPERS TO REMAIN.

(E) RECTANGULAR ROOFTOP DUCTWORK TO REMAIN.

(E) DUCTWORK TO BE REMOVED BACK TO THE MANUAL VOLUME DAMPERS. /1\ OSHPD COMMENTS 03.25.16
COVER OPEN ENDS OF DUCTWORK WITH BIRDSCREEN WHILE PREPARING FOR
CONNECTION OF NEW DUCT SYSTEM.

SOOQ

/2\ OSHPD COMMENTS 09.01.16
I /\
3 DESIGN CHANGES 09.01.16
A\ OSHPD COMMENTS 12.22.16
— il — — — — — — — — — — — @ /5\ OSHPD COMMENTS 02.22.17
REV: DESCRIPTION: DATE:

CONSULTANT
5151 Shoreham Place, Suite #240
San Diego, CA 92122

Phone: 619.330.6043
Fax: 909.890.3770

|_|_, email: info@designwesteng.com

DESIGN WEST ENGINEERING

MECHANICAL « ELECTRICAL » ENERGY CONSULTANTS

OSHPD APPROVAL STAMP:
OSHPD: # $152913-37-00

5-340 NICU RENO_MP_CENTRAL.rvt

SHEET TITLE:

MECHANICAL
@ @ @ @ @ @ DEMOLITION ROOF PLAN

PROJECT TITLE:

TCMC SCHIFF FAMILY NICU RENOVATION

PATH: R:|_PROJECT|2015|15-340 TCMC NICU Renovation| REVIT 2015|NICU|1

PRINTED 3/24/2017 3:13:26 PM

PROJECT #: SHEET NUMBER:
01549.00
DRAWN BY:
Author
CHECKED BY:
Checker
SCALE: n
1/8" =1'-0"

MECHANICAL ROOF PLAN 1/8"=1-0" | 1
11/13/15 15-340
All rights reserved. No part of this work may be reproduced or copied in any form or by any means, graphic, electronic, or mechanical, including photocopying, recording, taping, or information and retrieval systems without written permission of the ARCHITECT. 1 O O o/ : : I I E T F l ' : I W I




5-340 NICU RENO_MP_CENTRAL.rvt

NEW INFECTIOUS ISOLATION EXHAUST DUCT. SEE GENERAL NOTES ABOVE FOR
@ LABELING. 1. FOR LINE TYPES, SYMBOLS & ABBREVIATIONS SEE LEGEND ON MO.1. AR CUHITETCTS
ISOLATION ROOM DUCTWORK SHALL BE STAINLESS STEEL WELDED. 2. ALL SPIN-IN OR TAP TYPE DUCT CONNECTIONS SHALL BE PROVIDED WITH AN
EXTRACTOR, . .
KEEP DUCTWORK LOW ON WINDOW LEDGE. PENETRATE WALL AND EXHAUST 1350 Columbia Street, Suite 603
@ GRILLE SHALL BE LOCATED NO GREATER THAN 12" A.F.F. AS CLOSE TO PATIENT 3. T-STATS SHALL NOT BE MOUNTED IN DIRECT LINE OF ANY SUPPLY DIFFUSER OR San Diego, CA 92101
BED AS POSSIBLE. NEAR ANY HEAT REJECTION EQUIPMENT.
ROOF HAS SPC RATING OF SPC 3, NICU HAS RATING OF SPC 2. 4. DUCT DIMENSIONS ARE INSIDE CLEAR, ADD AN ADDITIONAL 2" MINIMUM FOR R-8 P:619-299-3917
SELF-DRAINING STAGKS OR EQUIVALENT SHALL BE USED DUCT INSULATION. SIZES MAY CHANGE PER MANUFACTURE F: 619-299-5084
; www.sfeirarch.com
B C E F G @ FOR RAIN PROTECTION. 5. ALL DUCTWORK SHALL BE HARD DUCT. FLEX DUCT MAY BE USED ONLY AT
SUPPLY & RETURN OUTLETS AT A MAX. LENGTH OF 7-0".
SUPPLY GRILLE SHALL BE REBALANCED TO CONFORM TO AIR BALANCE
@ SCHEDULE ON M0.1. 6. ALL VENTING SHALL HAVE A MIN. OF 25' CLEARANCE FROM ANY FORCED AIR
INLET W/ A MIN. OF 3' CLEARANCE ABOVE & A MIN OF 4' CLEARANCE FROM ANY
| | | | | EXHAUST GRILLE SHALL BE REBALANCED TO CONFORM TO AIR BALANCE PROPERTY LINE EXCEPT A PUBLIC WAY. PER SEC. 906
(7) SCHEDULE ON Mo.1,
7. ALL DUCTWORK SHALL BE MOUNTED HIGH AND TIGHT TO ROOF STRUCTURE AS
| - RETURN GRILLE SHALL BE REBALANCED TO CONFORM TO AIR BALANCE POSSIBLE.
12x12 SA N 12x12 SA 12x12 SA 12x12 SA SCHEDULE M0.1.
— ; - - 78 ) 8. CONTRACTOR SHALL COORDINATE DUCT RUNS WITH FIRE SPRINKLER
| T T T I I T T T T T T T : | T . @ (N) 12"@ DUCT UP AGAINST WALL. CONTRACTOR.
— e Al B AT - EXHAUST DUCT LOCATED ON ADJAGENT ROOF FOR DUCT SUPPORT ON ROOF, 9. CONTRACTOR SHALL COORDINATE WITH GENERAL CONTRACTOR FOR BUILDING
SEE DETAIL 5/SD-4. TO BE PURGED UPON COMPLETION AND PRIOR TO OCCUPANCY. FILTERS SHALL
a 24%12" EA BE REPLACED BEFORE PURGE AND UPON COMPLETION OF PURGE CYCLE.
o AX s FOR EXHAUST FAN MOUNTING, SEE DETAIL 4/M3.1.
640 CFM 10. CONTRACTOR SHALL PATCH ALL ROOF PENETRATIONS AS NEED TO MAINTAIN
@ (E) RELOCATED CAV BOX NO. 6, RECONNECT EXISTING HW PIPING TO CAV KW EXISTING ROOFING WARRANTY.
CO/L. L] n L]
11, THE EXHAUST DUCTS SHALL BE IDENTIFIED BY APPROPRIATE T Fl- C |ty M ed ICa I C en te r
N| </ )] FOR CAV BOX MOUNTING, SEE DETAIL 4/M3.1. LABELING WITH THE WORDS "CAUTION AIRBORNE INFECTION
o ISOLATION ROOMS EXHAUST" OR SIMILAR TERMINOLOGY. SUCH
| | | {"W"'\ | | PROVIDE WITH TSI ISOLATION (All) ROOM CONTROL WITH ANTE ROOM MONITOR LABELING SHALL BE IN A MANNER WHICH IS NOT READILY REMOVABLE
P a0 a0 N - ~ T - - - 0010 S 010 EA — — — 7.1 (19) aLaru sYSTEM AND SHALL APPEAR ON THE EXHAUST DUCT AT INTERVALS OF NOT MORE )
{ o) 71 X THAN 20 FEET (6096 MM) AND AT LEAST ONCE NEAR EACH ROOM 4002 Vista W ay
Ll 10x10 EAY— (D] OONKT 150 CFM NEW HEADWALL IS 8-0" WIDE & EXTENDS 9" INTO CEILING & IS 6" WIDE. AND EACH STORY TRAVERSED BY THE EXHAUST SYSTEM.
12x4 SA : : :
200 CFM NEW VENTLESS DRYER. 12. EXHAUST DISCHARGE FROM FAN SHALL EXTEND AT LEAST Ocea nside ’ Ca lifornia 92056
CLEAN UTILITY | | OFFICE 7 FEET (2134 MM) ABOVE THE ROOF AND DISCHARGE VERTICALLY
12x6 EA 8x8 SA MOUNT VFD NEAR THE EXHAUST FAN ON ROOF. PROVIDE DETAIL FOR UPWARD. RAIN CAPS WHICH DIVERT THE EXHAUST
140 CFM 140 CFM MOUNTING BRACKET. LOCATE ON THE SAME PAD AS EXHAUST FAN. SEE DETAIL TOWARD THE ROOF SHALL BE PROHIBITED. PROVIDE FAN WITH DRAIN KIT.
\ 6/M3.1.
P . — 13. ALARMS - AIRBORNE INFECTION ISOLATION ROOMS AND
[ gRROE\gZi st%’éE DFE//;EIE%F;E;? FULLSIZE DUCT IF ONE IS NOT PRESENT. RUSKIN PROTECTIVE ENVIRONMENT ROOMS. [OSHPD 1, 2, 3 & 4] OWNER: TRI-CITY MEDICAL CENTER
B : 1 4002 VISTA WAY
8x8 SA NURSE STATION 14. AN ALARM SYSTEM WHICH IS BASED ON STATIC PRESSURE OCEANSIDE CALIFORNIA 92056
PO 140 CFM 354 UNIT SEC. PROVIDE SUPPLY FAN AND FILTER BOX IN (N) MECHANICAL CLOSET. THE CONTROL, VOLUMETRIC CONTROL, OR DIRECTIONAL FLOW MEASUREMENT TEL(760)724-8411
359 352 DUCTWORK ASHALL TAP INTO THE EXISTING DUCT RISERS IN THE SHAFT AS SHALL BE PROVIDED FOR EACH ISOLATION ROOM. THE ALARM SYSTEM SHALL
;{?ﬁ EA . LOW TO THE GROUND AS POSSIBLE TO ALLOW FOR THE INSTALL OF THE NEW CONSIST OF A DISPLAY MONITOR LOCATED ON THE CORRIDOR WALL NEAR THE ARCHITECT:  SFEIR ARCHITECTS
s MECHANICAL EQUIPMENT AND FILTRATION. DOOR TO THE ROOM AND A VISUAL AND AUDIBLE ALARM WHICH ANNUNCIATES " 1350 COLUMBIA STREET. SUITE 603
1ovd SA L 10x10 EA M/ — Gh — W= {VAITING AT THE ROOM AND AT A NURSES' STATION OR OTHER SUITABLE LOCATION THAT SAN DIEGO. CALIFORNIA 92101
200 CFIl 86 EA —| 125CFM ! 349 PROVIDE THE SUPPLY FAN WITH A SPEED DRIVE AND PROVIDE DP SENSORS ON WILL PROVIDE RESPONSIBLE SURVEILLANCE. A TIME DELAY SHALL BE PROVIDED ’
75 CFM N = ! EACH SIDE OF THE FILTER BOX. PROGRAM THE SPEED DRIVE TO MATCH THE TO ALLOW FOR ROUTINE OPENINGS OF DOORS. THE ALARM SHALL ANNUNCIATE TEL(619)299-3917 FAX(619)299-5084
646 54 [ @ ‘ ] H‘ 8x8 CD bx6 CE K . STATIC PRESSURE AS THE FILTER DIRTIES. TAB SHALL DETERMINE THE INTIAL WHEN THE SUPPLY, RETURN, OR EXHAUST FANS ARE INTERRUPTED AND WHEN
kv = 125 CPM [ /sCM N ) SET-POINT OF A CLEAN FILTER AND AN ALARM SHALL BE PROVIDED TO WARN ONE OF THE FOLLOWING CONDITIONS IS NOT BEING MET DURING CLOSED STRUCTURAL:  SUN STRUCTURAL ENGINEERING
_ : N " — —— _ I — | _ _ @ WHEN THE FILTER HAS REACHED 0.54" W.G. FOR CHANGE OUT. DOOR CONDITIONS: 2091 LAS PALMAS DRIVE . SUITE D
= i{ \Z —s A ‘ 5 j | | LOCKERS @ | FEMALE PUBLIC (1) WHEN THE MINIMUM AIR QUANTITY DIFFERENCE OF 75 CFM CARLSBAD. CALIFORNIA 92011
CORRIDOR ' / =T T 353 CORRIDOR TOILET @ PROVIDE SEISMIC JOINT AS EXHAUST DUCT CROSSES BUILDING SEPARATIONS (35.4 L/S) REQUIRED BY TABLE 4-A IS NOT BEING MAINTAINED; TEL(760M36-1188
360 6's 8 ﬂ ( 348 ALCOV! / 350 FROM SPC-2 TO SPC-3. SEISMIC JOINT SHALL MEET OR EXCEED THE BUILDING OR (2) WHEN A MINIMUM PRESSURE DIFFERENTIAL OF 0.001 INCH (760)438-
X >
sTAFF LounceJER resrroom || SEISMIC JOINT MOVEMENT. (0.003 KPA) OF WATER AND A MINIMUM INWARD (OUTWARD MESP: DESIGN WEST ENGINEERING
\ FOR PROTECTIVE ENVIRONMENT ROOMS) AIR VELOCITY OF 100 FEET
jﬂ@l CLEAN e — @ THE FILTER BOXES & SUPPLY FANS WILL NEED TO OFFSET UP TO FIT BETWEEN PER MINUTE (0.508 M/S) IS NOT BEING MAINTAINED AT THE AIR 5151 SHOREHAM PLACE, SUITE 240
LI?’:‘E = (E) BEAMS IN ORDER TO MAINTAIN REQUIRED CEILING HEIGHTS. CONTRACTOR TRANSFER OPENING REQUIRED BY TABLE 4-A. SAN DIEGO, CALIFORNIA 92122
- L e r | SHALL FIELD VERIFY EXACT LOCATIONS OF BEAMS ONCE CEILING DEMOLITION TEL(619)330-6043
6x6 SA 6x6 SA TOILET HAS BEEN PERFORMED AND IMMEDIATELY NOTIFY THE DESIGN TEAM OF ANY 15, OTHER ACCEPTABLE ALARM SYSTEMS WILL BE ALLOWED WHEN
CORaF;SOR ﬁ m 150 CFM gi’;g %?:M %g %?—'M 3218 POTENTIAL ISSUES WITH GETTING THE FILTER BOXES TO FIT IN THE SPACE. DESIGNS ARE SPECIFICALLY APPROVED BY THE ENFORCING AGENCY.
8x6 EA 6x6 SA =
i ﬂ ()1 BXB( t 50 CFM 6x6 CE @ CONTRACTOR SHALL VERIFY THE EXACT LOCATIONS OF THE DUCTWORK IN THE 16, PRIOR TO ACCEPTANCE OF THE ROOMS, THE ALARM SYSTEM
8x8 EA X8 SA 8x8 CD 57 6x6 EA 6x6 EA 8x8 CD 16x16 EA 65 CFM SHAFT. PROVIDE OFFSETS AS REQUIRED IN ORDER TO MAKE THE DUCTWORK SHALL BE TESTED AND OPERATED TO DEMONSTRATE TO THE OWNER OR
75 CFM 75 CFM sh-er | 50 CFM 50 CFM 140 CFM 230 CFM FIT INTO THE MECHANICAL CLOSET. DESIGNATED REPRESENTATIVE THAT THE INSTALLATION AND PERFORMANCE
B - - D o OF THE SYSTEM CONFORMS TO DESIGN INTENT.
/ﬂ LACTATION 88 SA e ] (%) (24) PROVIDE RUSKIN L375D 16X12" LOUVER IN DOOR. BASED ON A VALUE OF 140
342 175 CFM ] 7 @/ CFM TRAVELING THROUGH THIS LOUVER, THE PRESSURE DROP WILL BE 0.01 17, TESTING AND BALANCING AIRBORNE INFECTION ISOLATION
/ | \ o & — (W.G.) AND THE VELOCITY WILL BE 286 FPM. ROOMS AND PROTECTIVE ENVIRONMENT ROOMS. [OSHPD 1, 2,
U [ 2(26) 34 I EAN (/Y % | 1| 3& 4] PRIOR TO ACCEPTANCE OF THE ROOMS, ALL MECHANICAL
] — ATHD —mW_ > il ANTEROOM s i 10x10 CD SYSTEMS SHALL BE TESTED, BALANCED, AND OPERATED TO DEMONSTRATE
\ 7 *ﬂf - 360 CFM TO THE OWNER OR DESIGNATED REPRESENTATIVE THAT THE
== /BE== & NI PROVIDE PRE AND POST CONSTRUCTION TRAVERSE READINGS IN THE DUCT AT INSTALLATION AND PERFORMANCE OF THE SYSTEMS CONFORM TO
- [ ‘ R — % - % <d i - 4.5 POINT INDICATED TO VERIFY NO CHANGE TO THE EXISTING FACILITIES AIR 3 DESIGN INTENT. ALL TESTING AND BALANCING SHALL BE PERFORMED
Al = 339D - ’) R 6x6 EA . I -~ 7d i _—10"x10" BALANCE OUTSIDE THE REMODEL AREA DUE TO THE MODIFICATIONS MADE 5 BY A QUALIFIED INDEPENDENT AGENCY CERTIFIED BY THE ASSOCIATED
— | ‘ 12 E % % T\ ] "o 8'g 6" DROP DUCT IN ATTIC A WITHIN THE SCOPE OF THIS PROJECT. AT THE PROJECT CLOSE OUT PROVIDE AIR BALANCE COUNCIL (AABC): THE NATIONAL ENVIRONMENTAL
14x6 SA KZ] [ e 10X87] | | Ld \ \ I /r SPACE DN TO 6" ABOVE AIR BALANCE REPORT LISTING BOTH THE PRE AND POST CONSTRUCTION 3 BALANCING BUREAU (NEBB); OR THE TESTING, ADJUSTING AND
175 CFM @ SA DUCT | N = 5 ‘ | 8 I CORRIDOR g"'@ \ FLOOR LEVEL AND READINGS FOR APPROVAL BALANCING BUREAU (TABB). /1\
(o V3 1-BE | 10"%10" b A_AA_AAA A A A A A A A A A A A OSHPD COMMENTS 03.25.16
s8EA — | 5 1-BED - o 8) | 38 2 i ISOLATION ROOM ROUTE THRU WALL 18. AIR DISTRIBUTION. THE SUPPLY OUTLETS AND EXHAUST INLETS
50 CFM \ | (P I 7 & SHALL BE LOCATED TO PROVIDE AIRFLOW PATTERNS THAT PREVENT
8x8 EA = 2 } | @ =N A \ , @ STAGNATION OF THE AIR AND ELIMINATE SHORT CIRCUITING OF THE SUPPLY TO /2\ OSHPD COMMENTS 09.01.16
14x6 SA —— 100 CFM | NURSE STATION 7] | 4 7] 71— ==Jhl | THE EXHAUST, AND MINIMIZE EXPOSURE OF HEALTH CARE WORKERS TO N
175 CFM CORRIDOR :ﬁ A | _‘r — = (e AIRBORNE INFECTIOUS PARTICLES. SUPPLY-AIR OUTLETS SHALL BE LOCATED AT 3\ DESIGN CHANGES 09.01.16
339C — ]| — — LT 120 S/S OR NEAR THE CEILING AND AT THE END OF THE AIRBORNE INFECTION /\
VAN | = | - — ;g’; 7ng;‘//? - , ISOLATION ROOM WHICH IS OPPOSITE THE HEAD OF THE BED. /4\ OSHPD COMMENTS 12.22.16
X o EXHAUST REGISTERS SHALL BE LOCATED ON THE WALL BEHIND THE PATIENT'S
56 EA N ‘ ‘ | igg‘scgﬁ HEAD, OR AS CLOSE TO THAT WALL AS PRACTICAL AND SHALL BE LOCATED NOT 2\ OSHPD COMMENTS 222
| B\ /SF ‘ < | — e —— — LESS THAN 3 INCHES (76 MM) NOR MORE THAN 24 INCHES (610 MM) ABOVE THE A DESIGN CHANGES 4.14.2017
12x12 SA @ 19 2 2 \ IS - FINISHED FLOOR. REV: DESCRIPTION: DATE:
8x8 EA 3.6 36" ~_ EXCEPTION: FOR CORRECTIONAL TREATMENT CENTERS, THE LOCATION AND ' ' ‘
A 848 SA 19%12 SA Sy i 205S N~ DESIGN OF THE SUPPLY OUTLETS AN EXHAUST OR RETURN INLETS SHALL NOT CONSULTANT
100 CFM wocry / SF cotenor AN COMPROMISE THE SAFETY, SECURITY AND PROTECTION OF STAFF, INMATES _
2 5308 N AND PROPERTY. 5151 Shoreham Place, Suite #240
N San Diego, CA 92122
@ Phone: 619.330.6043
Fax: 909.890.3770
\_* / (TYP) \ 000 email: info@designwesteng.com
1-BED
331
N \ DESIGN WEST ENGINEERING
120 /S \ MECHANICAL * ELECTRICAL * ENERGY CONSULTANTS
/ \ OSHPD APPROVAL STAMP:
\\ OSHPD: # $152913-37-00
\
\
l
1
l
l
I
14x6 SA I
175 CFM 175 CFM //
8x8 EA /
/
| /
/
/
/
/
5 /
/ SHEET TITLE:

S MECHANICAL REMODEL
7 FLOOR PLAN

PROJECT TITLE:

TCMC SCHIFF FAMILY NICU RENOVATION

PATH: R:|_PROJECT|2015|15-340 TCMC NICU Renovation| REVIT 2015|NICU|1

PRINTED 3/24/2017 3:13:28 PM

PROJECT #: SHEET NUMBER:
01549.00
DRAWN BY:
Author
CHECKED BY:
Checker
SCALE: n
1/8" =1'-0"
DATE: A

MECHANICAL REMODEL FLOOR PLAN e =10 1 o 15:340
All rights reserved. No part of this work may be reproduced or copied in any form or by any means, graphic, electronic, or mechanical, including photocopying, recording, taping, or information and retrieval systems without written permission of the ARCHITECT. 1 O O 0/
o CONSTRUCTION DRAWINGS




GENERAL NOTES S F E | R

AR CH I T E C T S

1350 Columbia Street, Suite 603
San Diego, CA 92101

P: 619-299-3917
F: 619-299-5084
www.sfeirarch.com

OO ) () OO TCMC SCHIFF
' | ' ' | ' FAMILY NICU
' ] RENOVATION

Tri-City Medical Center

4002 Vista Way

Oceanside, California 92056
- | | - - - - - - - - - - | | - - - ,
e —

| OWNER: TRI-CITY MEDICAL CENTER
4002 VISTA WAY

OCEANSIDE CALIFORNIA 92056
TEL(760)724-8411

A (2F7x24)"
(E) AIR HANDLER > P ]
UNIT. (S-10

SUPPLY FAN,) 2l ] (24%40)"

ARCHITECT:  SFEIR ARCHITECTS

| 1350 COLUMBIA STREET, SUITE 603
SAN DIEGO, CALIFORNIA 92101
TEL(619)299-3917 FAX(619)299-5084

|~ (E) EXHAUST FAN RISER DOWN A

TO REMODEL SPACE. STRUCTURAL: SUN STRUCTURAL ENGINEERING

| - | 2091 LAS PALMAS DRIVE , SUITE D
CARLSBAD, CALIFORNIA 92011
TEL(760)438-1188

NV
— — Al %/ :*»f\ L _ _ _ _ | | L 1 ME&P: DESIGN WEST ENGINEERING
@ | 5151 SHOREHAM PLACE, SUITE 240

P

L
—

SAN DIEGO, CALIFORNIA 92122
TEL(619)330-6043

¢
\[

1

CONSTRUCTION NOTES

EXP. 9-30-2017

5-340 NICU RENO_MP_CENTRAL.rvt

O A7€CHANX®\'

(E) ROUND DUCT DROPS TO SERVE FLOOR BELOW TO REMAIN. N
COF cauf

(E) RECTANGULAR BALANCING DAMPERS TO REMAIN.

OIONC

E)\RECTANG|LAR ROOLTORDYCTHWORKFO

?
;

@ PROVIDE PRE AND POST CONSTRUCTION TRAVERSE READINGS IN THE DUCT /1\ OSHPD COMMENTS 03.25.16
AT THE POINT INDICATED TO VERIFY NO CHANGE TO THE EXISTING FACILITIES
AIR BALANCE OUTSIDE TRHE REMODEL AREA DUE TO THE MODIFICATIONS

MADE WITHIN THE SCOPE OF THIS PROJECT. AT PROJECT CLOSE PROVIDE AIR /2\ OSHPD COMMENTS 09.01.16
BALANCE REPORT LISTING BOTH THE PRE AND POST CONSTRUCTION /\
I RFADINGS FOR APPROVAL. 3 DESIGN CHANGES 09.01.16
A\ OSHPD COMMENTS 12.22.16
. . 1] . . . . . . o | . . . /5\ OSHPD COMMENTS 02.22.17
45 DESIGN CHANGES 4.14.2017
REV: DESCRIPTION: DATE:

CONSULTANT

5151 Shoreham Place, Suite #240
San Diego, CA 92122

Phone: 619.330.6043
Fax: 909.890.3770

_l_l. email: info@designwesteng.com

DESIGN WEST ENGINEERING

MECHANICAL « ELECTRICAL » ENERGY CONSULTANTS

OSHPD APPROVAL STAMP:
OSHPD: # S$152913-37-00

| | | | | | SHEET TITLE:

MECHANICAL ROOF PLAN

PROJECT TITLE:

TCMC SCHIFF FAMILY NICU RENOVATION

PATH: R:|_PROJECT|2015|15-340 TCMC NICU Renovation| REVIT 2015|NICU|1

PRINTED 3/24/2017 3:13:30 PM

PROJECT #: SHEET NUMBER:
01549.00
DRAWN BY:
Author
CHECKED BY: M : ! : !
Checker
SCALE: n
1/8" =1'-0" A
MECHANICAL ROOF PLAN 18 =1-0" | 1 s 15340

All rights reserved. No part of this work may be reproduced or copied in any form or by any means, graphic, electronic, or mechanical, including photocopying, recording, taping, or information and retrieval systems without written permission of the ARCHITECT. 1 O O o/ C O N ST R l ' CT I O N D R n W I N G S




